Australian Country
Cricket Championships
Female Division
Results & Statistics
2016-17





Compiled by Adam Morehouse ACCC Statistician

Match Summaries

Round 1 – 6 January 2017

Queensland 1-133 (A Weeks 63no, A Paton 49) lost to **New South Wales** 6-134 (L Griffith 49no, A Edgar 33, E Flynn 2-23) by 4 wickets at North Dalton Park, Towradgi.

East Asia Pacific 95 (E Gallagher 3-7, L Croft 2-13, C Moscript 2-15, S Townsend 2-23) lost to **Victoria** 6-96 (S Townsend 45, R Oa 3-16) by 4 wickets at University No.1 Oval, Keiraville.

Round 1 – 7 January 2017

South Australia 2-139 (BA Perry 62no, H Armstrong 27) defeated **Northern Territory** 107 (J Page 32, C Fiebig 3-2, JL Howie 3-12, K Armstrong 2-28) by 32 runs at University No.1 Oval, Keiraville.

Round 2 – 7 January 2017

South Australia 6-117 (BA Perry 37, H Armstrong 37, P Siaka 3-13) lost to **East Asia Pacific** 5-118 (V Frank 30) by 5 wickets at University No.1 Oval, Keiraville.

Western Australia 9-89 (C Moscript 2-9, JK Goodger-Chandler 2-16) lost to **Victoria** 2-93 (R O'Donnell 35) by 8 wickets at Judy Masters Park, Balgownie.

New South Wales 5-133 (R Cady 42, GA McDonald 32, M Hunter 2-18, A Cloughessy 2-20) defeated **Northern Territory** 6-99 (J Page 65no, L Avard 2-2) by 34 runs at Ziems Park, Corrimal.

Round 3 – 8 January 2017

East Asia Pacific 5-100 (N Ovasuru 35no, K Oala 31, K Jackson 2-13, MS Norup 2-21) lost to **New South Wales** 7-103 (L Griffith 34no, A Edgar 30, P Siaka 3-17) by 3 wickets at University No.1 Oval, Keiraville.

Queensland 8-114 (B Stray 2-17, R Hartung 2-20) defeated **Northern Territory** 82 (E Flynn 6-4, HJ Clarke 2-23) by 32 runs at University No.2 Oval, Keiraville.

South Australia 2-117 (BA Perry 45no) defeated **Western Australia** 50 (C Fiebig 4-3 including hat trick, S Jameson 2-3) by 67 runs at Ziems Park, Corrimal.

Round 4 – 8 January 2017

Northern Territory 8-59 (S Jimmy 3-10, R Oa 2-11) lost to **East Asia Pacific** 2-60 by 8 wickets at University No.2 Oval, Keiraville.

Western Australia 9-102 (L Shackleton 2-11, M Dixon 2-12, J Carroll 2-13, HJ Clarke 2-19) lost to **Queensland** 3-103 (CA Musk 39no, A Weeks 26) by 7 wickets at University No.1 Oval, Keiraville.

New South Wales 3-108 (R Cady 41, L Griffith 29no) defeated **Victoria** 7-84 (MS Norup 2-11) by 24 runs at North Dalton Park, Towradgi.

Round 5 - 9 January 2017

Victoria 112 (E Flynn 4-28, L Shackleton 2-10, HJ Clarke 2-19) defeated **Queensland** 9-94 (A Spina 39, C Cooper 26, C Moscript 5-18, E Gallagher 2-14) by 18 runs at Judy Masters Park, Balgownie.

South Australia 2-132 (BA Perry 62no, H Armstrong 35) defeated **New South Wales** 7-122 (R Cady 34, M Lugg 30, S Jameson 2-18) by 10 runs at University No.1 Oval, Keiraville.

Western Australia 7-112 (LK Muller 2-21) lost to Northern Territory 6-113 (J Page 44, B Stray 27, K Pepper 2-16) by 4 wickets at University No.2 Oval, Keiraville.

Round 6 – 9 January 2017

Queensland 7-128 (S Baldwin 41, C Cooper 25, M Dixon 25, C Fiebig 3-25) defeated **South Australia** 66 (CA Musk 3-4, L Shackleton 3-15, M Dixon 2-26) by 62 runs at University No.1 Oval, Keiraville.

Victoria 5-126 (C Moscript 45, LK Muller 2-19, R Hartung 2-23) defeated **Northern Territory** 50 (C Neale 3-2, C Moscript 3-13, R O'Donnell 2-7) by 76 runs at Judy Masters Park, Balgownie.

Western Australia 68 (CA Wain 39no, N Ovasuru 3-14, P Siaka 2-10, R Oa 2-13) lost to East Asia Pacific 2-70 (S Jimmy 27) by 8 wickets at University No.2 Oval, Keiraville.

Round 7 - 10 January 2017

Western Australia 4-98 (S Williams 47no, L Griffith 2-15) lost to New South Wales 2-99 (R Cady 41no) by 8 wickets at Judy Masters Park, Balgownie.

South Australia 8-83 (E Gallagher 3-12, L Croft 2-13) defeated **Victoria** 8-79 (C Galbraith 5-13) by 4 runs at Ziems Park, Corrimal.

Queensland 9-81 (C Cooper 29, V Frank 2-12, R Oa 2-14, S Jimmy 2-14) lost to East Asia Pacific 2-82 (N Ovasuru 41no) by 8 wickets at University No.2 Oval, Keiraville.

Semi Finals - 10 January 2017

Victoria 5-135 (S Townsend 62, MS Norup 4-27) defeated **New South Wales** 7-134 (L Griffith 55, C Moscript 2-15, E Gallagher 2-34) by 1 run at University No.1 Oval, Keiraville.

South Australia 4-111 (BA Perry 41, J Doecke 27, N Ovasuru 3-16) lost to **East Asia Pacific** 5-112 (N Ovasuru 38no, K Oala 31, S Tansell 2-14) by 5 wickets at North Dalton Park, Towradgi.

Finals - 11 January 2017

5th/6th Playoff – **Northern Territory** 8-109 (J Page 30, M Dixon 2-18) lost to **Queensland** 2-110 (M Dixon 29no, C Cooper 26) by 8 wickets at University No.2 Oval, Keiraville.

3rd/4th Playoff – South Australia 6-114 lost to **New South Wales** 5-118 (L Griffith 33no, A Edgar 25) by 5 wickets at University No.1 Oval, Keiraville.

Grand Final – **Victoria** 8-99 (S Townsend 45, R Oa 2-15) lost to **East Asia Pacific** 2-100 (N Ovasuru 42no, P Siaka 41no) by 8 wickets at University No.1 Oval, Keiraville.

Final Points Table

	Р	W	NR	L	Pts	NRR
New South Wales	6	5	0	1	10	0.9017
East Asia Pacific	6	4	0	2	8	1.7726
South Australia	6	4	0	2	8	1.6964
Victoria	6	4	0	2	8	1.4659
Queensland	6	3	0	3	6	1.4351
Northern Territory	6	1	0	5	2	0.4325
Western Australia	6	0	0	6	0	0.3026

Award Winners

Championship Team

East Asia-Pacific

Batting Award

Brittany Perry (South Australia)

Bowling Award

Cara Fiebig (South Australia)

CBA Player of the Championship

Rebecca Cady (New South Wales)

Fielding Award

Hannah Clarke (Queensland)

Wicket-Keeping Award

Jordan Doecke (South Australia)

Spirit of Cricket Award

South Australia

Australian Country XII

Brittany Perry (South Australia)

Julie Page (Northern Territory)

Stephanie Townsend (Victoria)

Lisa Griffith (New South Wales)

Norma Ovasuru (East Asia Pacific)

Pauke Siaka (East Asia Pacific) (capt)

Rebecca Cady (New South Wales) (wk)

Chelsea Moscript (Victoria)

Cara Fiebig (South Australia)

Konio Oala (East Asia Pacific)

Sharni Tansell (South Australia)

Eliza Flynn (Queensland)

Coaches: Eddie Mansale & Bebe Miyaji (East Asia Pacific)

Manager: Jane Livesey (East Asia Pacific)

EAST ASIA PACIFIC v VICTORIA

Played at University No.1 Oval, Keiraville on January 6, 2017. (Day/Night) (Twenty20 match) Result: VICTORIA WON BY FOUR WICKETS. Toss: East Asia Pacific

Umpires: D Cullen & H Hart. Scorers: M Head (EAP) & B Godwin (Vic).

Points: East Asia Pacific 0; Victoria 4.

ACCC Debuts: East Asia Pacific: V Frank, S Jimmy, K John, K Oala. Victoria: B Chesterfield, E Donald, JK Goodger-Chandler, H

Irvine, R O'Donnell, T Parker.

Innings Details: none.

East Asia Pac	cific	1st	Tnr	nings					
	,	100				М	В	4	6
M Yanagida	c G-Cha	ndler	b	Gallagher	3	7	10	0	0
T Ruma	c Towns	end	b	Moscript	0	10	3	0	0
N Ovasuru		С &	b	Croft	6	28	21	0	0
*P Siaka	st Lync	h	b	Moscript	3	7	8	0	0
E Kobayashi	c Lynch		b	Croft	8	40	23	0	0
K Oala	_			Townsend	5	22	15	0	0
S Solman	st Lync	h	b	Townsend	23	38	16	4	0
V Frank	c Galla			Townsend	10	18	16	0	0
+H Buruka	c Croft	-		Gallagher	0	2	2	0	0
R Oa	no	t		out	7		4	0	0
S Jimmy	ru			out	3		3	0	0
K John	did n		t.		_		_	-	-
Extras	(1b, 51			3nb)	26				
2110140	(10) 01	~, _,	,	01127					
TOTAL (20 ov	vers)				95				
	0	М	R	W					
Moscript	4	0	15	2	1-	3 (Y	anag	i da)
Gallagher	3	0	7	3			anay .uma)		,
Goodger-Chanc		0	6	0		•	uma) iaka		
Croft	4		13	2		- , -	vasu		
O'Donnell	1		10	0		•			÷)
Townsend	4	0	23	2.	6- 4		obay		1)
Irvine	2		23 15	0	7- 8		ala) 'rank		
(Moscript 4w,	Goodger	-Chan	dle	er 4w,	8- 8 9- 8	, -	olma uruk		
O'Donnell 8v Irvine 1w) Victoria	,, 10,,,,,0			nings	10- 9	. (0	immy	,	
C. Managint	- El-		1	0-	_	M	B	4	6
C Moscript	c Frank			Oa	6 2	19	11	0	0
R O'Donnell		lbw				8	8	0	0
+E Lynch				Oa	0	1	3	()	
S Townsend					4 =	г л	4.1		0
			α	Siaka	45	54	41	6	0
T Parker	ru		a	out	14	73	43	6	0
T Parker B Chesterfiel	ld ru	n	a	out out	14 2	73 3	43 4	6 0 0	0 0
T Parker B Chesterfiel L Croft	ld ru no	n t	a	out out out	14 2 15	73	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher	ld ru no no	n t t		out out out out	14 2 15 0	73 3	43 4	6 0 0	0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch	ld ru no no nandler d	n t t id no	t k	out out out out	14 2 15	73 3	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine	ld ru no no nandler d did n	n t t id no ot ba	t k	out out out out	14 2 15 0	73 3	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald	ld ru no no nandler d did n did n	n t t id no ot ba ot ba	t k t	out out out out	14 2 15 0	73 3	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins	ld ru no no nandler d did n did n	n t t id no ot ba ot ba ot ba	t k t t	out out out out	14 2 15 0 - -	73 3	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald	ld ru no no nandler d did n did n	n t t id no ot ba ot ba ot ba	t k t t	out out out out	14 2 15 0	73 3	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras	ld ru no no nandler d did n did n	n t t id no ot ba ot ba ot ba	t k t t	out out out out	14 2 15 0 - - - 12	73 3	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras	no no nandler d did n did n did n (51b, 6	n t t id no ot ba ot ba ot ba	t k t t	out out out out oat	14 2 15 0 - - - 12	73 3	43 4 11	6 0 0 2	0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras	no no no no no no no nandler d did n did n did n (51b, 6	n t t id no ot ba ot ba ot ba w, 1n	t k t t t b)	out out out out oat	14 2 15 0 - - 12 s 96	73 3 26	43 4 11	6 0 0 2 0	0 0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras TOTAL (20 c	no no no no no no no no nandler did n did n did n (51b, 6	n t t id no ot ba ot ba w, 1n M 0	t k t t t b)	out out out out oat 6 wkts	14 2 15 0 - - 12 s 96	73 3 26	43 4 11 12	6 0 0 2 0	0 0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras TOTAL (20 c	no no no no no no no nandler d did n did n did n (51b, 6 overs)	n t t id no ot ba ot ba w, 1n M 0	t k t t t b)	out out out out out out out out out	14 2 15 0 - - 12 s 96	73 3 26 6 (O 6 (L	43 4 11 12	6 0 0 2 0	0 0 0 0 0 0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras TOTAL (20 c	no n	n t t id no oot ba oot ba oot ba w, 1n M 0 0	t k t t t b)	out out out out out out A wkts W 0 3	14 2 15 0 - - 12 s 96	73 3 26 6 (O 6 (L 1 (M	43 4 11 12	6 0 0 2 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras TOTAL (20 c) Ovasuru Oa Oala	no no no no no no no nandler d did n did n did n (51b, 6 overs)	n t t t id no ot ba ot ba w, 1n M 0 0	t k t t t t b)	out	14 2 15 0 - - 12 s 96	73 3 26 6 (O 6 (L 1 (M 22 (T	43 4 11 12 'Don ynch oscr	6 0 0 2 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras TOTAL (20 c) Ovasuru Oa Oala Siaka	no n	n t t t id no ot ba ot ba w, 1n M 0 0 0	t k t t t b) R 18 16 18	out	14 2 15 0 - - 12 s 96	73 3 26 6 (O 6 (L 1 (M 2 (T 4 (C	43 4 11 12 'Don ynch oscr owns hest	nel ipt end erf	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T Parker B Chesterfiel L Croft *E Gallagher JK Goodger-Ch H Irvine E Donald P Jenkins Extras TOTAL (20 c) Ovasuru Oa Oala Siaka Solman	no no nandler d did n did n did n (51b, 6 overs)	n t t t id no ot ba ot ba ot ba w, 1n M 0 0 0 0	t k t t t b) R 18 16 18 10	out	14 2 15 0 - - 12 s 96	73 3 26 6 (O 6 (L 1 (M 2 (T 4 (C	43 4 11 12 'Don ynch oscr owns hest	nel ipt end erf	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

(Ovasuru 1nb, Oa 3w, Solman 2w, Ruma 1w)

NEW SOUTH WALES v QUEENSLAND

Played at North Dalton Park, Towradgi on January 6, 2017. (Day/Night) (Twenty20 match)

Toss: Queensland.

Result: NEW SOUTH WALES WON BY SIX WICKETS.

Umpires: G Beechey & S Saye. Scorers: A Brockley (NSW) & L Maloney (Qld).

Points: New South Wales 4; Queensland 0.

ACCC Debuts: New South Wales: L Avard, R Cady, A Edgar, L Griffith, K Jackson, TE Kavanagh, M Lugg, S Manns, GA

McDonald, MS Norup, A Riddell, K Rowlings. Queensland: E Flynn, CA Musk, A Spina.

Innings Details: Weeks 50 in ? min ? balls.

Queensland	1s	t Inn	ings	3					
						M	В	4	6
+A Weeks	not		(out	63		56	6	0
A Paton	run out (G	riffi	th-1	Norup)	49		48	4	0
CA Musk	not		(out	9		18	1	0
*S Baldwin	did not	bat			-				
CA Cooper	did not	bat			-				
L Shackleton	did not	bat			-				
HJ Clarke	did not	bat			-				
J Carroll	did not	bat			-				
E Flynn	did not	bat			-				
AJ Cartwright	did not	bat			-				
M Dixon	did not	bat			-				
A Spina	did not	bat			-				
Extras	(1b, 9w, 2	nb)			12				
TOTAL (20 ove	ers)			1 wkt	133				
	O M	I R	W						
Avard		18	0		1-106	/ D	2+0n	١	
Manns		13	-		1-100	(=	acon	,	
Griffith	4 0		0						
Riddell	2 0		0						
Jackson	1 0		0						
		_	-						
Kavanagh			0						
Norup	4 0		0						
Edgar	3 0	13	0						

(Avard 3w, Manns 2w, Griffith 1w, Jackson 2w, Edgar 1w 2nb)

New South Wal	les	lst I	nnings						
						М	В	4	6
A Edgar	st Weeks]	o Clark	e	33		25	5	0
+R Cady	c Paton]	o Flynn		7		13	0	0
GA McDonald]	o Flynn		0		5	0	0
*L Griffith	not		ou	t	49		48	7	0
MS Norup	c Musk]	Shack	leton	11		18	0	0
K Rowlings]	Coope	r	5		7	0	0
K Jackson	run		ou	t	11		5	2	0
M Lugg	not		ou	t	0		1	0	0
TE Kavanagh	did not	bat			-				
A Riddell	did not	bat			-				
L Avard	did not	bat			-				
S Manns	did not	bat			-				
Extras	(2b, 2lb,	12w	2nb)		18				
TOTAL (20 d	overs)		6	wkts	134				
	0	M I	R W						
Shackleton	4	0 2	3 1		1- 32	(Ca	ady)		
Cooper	3	0 2	9 1		2- 32	(Mo	cDon	ald)
Dixon	3	0 2	4 0		3- 76	(E	dgar)	
Flynn	3	0 2	3 2		4-104	(No	orup)	
Clarke	4	0	3 1		5-116	(Ro	owli	ngs)
Musk	2	0 1	3 0		6-132	(Ja	acks	on)	
Baldwin	1	0	5 0						

(Cooper 3w 1nb, Flynn 7w, Musk 2w, Baldwin 1nb)

NORTHERN TERRITORY v SOUTH AUSTRALIA

Played at University No.1 Oval, Keiraville on January 7, 2017. (Twenty20 match)

Toss: South Australia. Result: SOUTH AUSTRALIA WON BY 32 RUNS.

Umpires: D Dobinson & L Walker. Scorers: M Pemberton (NT) & D Billet (SA).

Points: Northern Territory 0; South Australia 4.

ACCC Debuts: Northern Territory: A Cloughessy, C Gray, Matisse Hunter, Monet Hunter, M Kaukura, JH Munro, J Page, S Roberts, E Shearer, B Stray. South Australia: K Armstrong, R Cummings, C Fiebig, CA Galbraith, S Jameson, S Tansell.

M B 4 6

Innings Details: South Australia: Perry 50 in ? min ? balls.

South Austral	ia 1	st Inr	nings					
					M	В	4	6
BA Perry	not		out	62	87	71	8	0
H Armstrong	c Roberts	b	Kaukura	27	66	36	4	0
*+J Doecke	c Shearer	b	Gray	12	10	9	0	1
E Faint	not		out	5	9	7	1	0
S Jameson	did not	bat		-				
R Cummings	did not	bat		-				
C Fiebig	did not	bat		-				
FL Mansell	did not	bat		-				
K Armstrong	did not	bat		-				
JL Howie	did not	bat		-				
BL Tonkin	did not	bat		-				
S Tansell	did not	bat		-				
Extras	(1b, 1lb,	28w,	3nb)	33				
TOTAL (87 mi	n, 20 over	s)	2 wkts	139				
	0 1	M R	M					
Muller	3	0 14	0	1- 9	9 (H	Arm	str	ong)
Cloughessy	_	0 16	0	2-12	1 (D	oeck	e)	
Shearer	_	0 9	0					
Roberts		0 11	0					
Hartung	=	0 22	0					
Tomlins	1	0 12	0					
Kaukura	=	0 24	1					
Gray	3	0 19	1					
Munro	1	0 10	0					
(Muller 1w, C	loughessy	12w, E	Roberts 4w	2nb,				

(Muller 1w, Cloughessy 12w, Roberts 4w 2nb, Hartung 6w, Tomlins 1nb, Kaukura 2w, Munro 3w)

Northern Territory 1st Innings

*J Page	st Doecke	€	b	K A'strong				_	0
+B Stray			b	Jameson	22	24	1 24	3	0
C Gray	st Doecke	€	b	K A'strong	5	15	5 9	0	0
A Cloughessy	st Doecke	€	b	Faint	1	ī	5 8	0	0
JH Munro	c H A'st	rong	b	Howie	14	13	3 13	3	0
M Kaukura	st Doecke	€	b	Fiebig	4	9	9 5	1	0
E Shearer	c Perry		b	Howie	1	2	2 3	0	0
S Roberts			b	Fiebig	6	14	1 12	1	0
L Muller			b	Howie	1		3 6	0	0
R Hartung		lbw	b	Fiebig	1	(3 5	0	0
R Tomlins	not			out	0	3	3 0	0	0
Monet Hunter	did not	ba	t		-				
Extras	(2b, 1lb,	. 14	w,	3nb)	20				
TOTAL (19.1	overs)				107				
	0	М	R	M					
Mansell	3	0	16	0	1-	35	(Stra	у)	
Tansell	1	0	9	0	2-	57	(Gray)	
Jameson	4	0	17	1	3-	58	(Clou	ghes	sy)
Faint	4	1	20	1	4 –	88	(Page)	
K Armstrong	3	0	28	2	5-	95	(Munr	0)	
Howie	2	0	12	3	6-	98	(Shea	rer)	
Fiebig	2.1	0	2	3	7-	98	(Kauk	ura)	
					8-	99	(Mull	er)	
(Tansell 4w 1r	nb, Faint	1w,			9-1	06	(Hart	ung)	
K Armstrong 5	w, Howie	4 w	2nk	o)	10-1		(Robe	_	

EAST ASIA PACIFIC v SOUTH AUSTRALIA

Played at University No.1 Oval, Keiraville on January 7, 2017. (Twenty20 match)

Result: EAST ASIA-PACIFIC WON BY FIVE WICKETS. Toss: South Australia.

Umpires: D Dobinson & L Walker. Scorers: M Head (EAP) & D Billet (SA).

Points: East Asia Pacific 4; South Australia 0.

ACCC Debuts: nil. Innings Details: none.

South Austral:	ia	1st I	nnings					
					M	В	4	6
H Armstrong			b Siaka	37	56	41	6	0
BA Perry	c ?		b Siaka	37	48	38	3	0
C Fiebig	no	t	out	24	35	15	5	0
*+J Doecke			b Uliao	7	5	7	1	0
K Armstrong		lbw	b Siaka	0	4	5	0	0
CA Galbraith	rui	n	out	0	8	7	0	0
E Faint			b Oala	0	1	2	0	0
FL Mansell	no	t	out	3	5	5	0	0
S Jameson	did n	ot bat		-				
JL Howie	did n	ot bat		-				
BL Tonkin	did n	ot bat		-				
S Tansell	did n	ot bat		-				
Extras	(31b, 6	w)		9				
TOTAL (20 ove	ers)		6 wkt	s 117				
	0	М	R W					
Oa	3		5 0	1- 6				
Oala	3		6 1	2- 8				one
Solman	1		2 0	3- 8				
Ovasuru Yanagida	3 3		1 0 5 0	4- 8 5-10				
- unuy + ua			3 3			aint aint		11)
Siaka	4	0 1						
Uliao (Oala 1w, Solm Yanagida 1w,	3 man 3w, Siaka 1	0 2 w)	nnings	0 10				
Uliao (Oala 1w, Solm Yanagida 1w, East Asia Pac :	3 man 3w, Siaka 1	0 2 w) 1st I	2 1	30	M 50	B 50	4 6	6
Uliao (Oala 1w, Solmanagida 1w, East Asia Pac: V Frank	3 man 3w, Siaka 1	0 2 w) 1st I	2 1		М	В	4	
Uliao (Oala 1w, Solmanagida 1w, East Asia Pac: V Frank	3 man 3w, Siaka 1	0 2 w) 1st I c &	2 1 nnings b Fiebig	30 17	M 50	B 50	4 6	0
Uliao (Oala 1w, Soli Yanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka	3 man 3w, Siaka 1 ific	0 2 w) 1st I c & ke	2 1 nnings b Fiebig b Jameson	30 17	M 50 41	B 50 19	4 6 2	0
Uliao (Oala 1w, Soli Yanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman	3 man 3w, Siaka 1m ific st Doec	0 2 w) 1st I c & ke ut (Fi	nnings b Fiebig b Jameson b Galbraith	30 17 9	M 50 41 14	B 50 19	4 6 2 1	0 0 0
Uliao (Oala 1w, Soli Yanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala	3 man 3w, Siaka 1m ific st Doec: run on	0 2 w) 1st I c & ke ut (Fi ut (Ja	nnings b Fiebig b Jameson b Galbraith ebig)	30 17 9 7	M 50 41 14 8	B 50 19 12 6	4 6 2 1	0 0 0
Uliao (Oala 1w, Soli Yanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru	3 man 3w, Siaka 1m ific st Doec: run on run on	o 2 w) 1st I c & ke ut (Fi ut (Ja t	nnings b Fiebig b Jameson b Galbraith ebig) meson)	30 17 9 7	M 50 41 14 8	B 50 19 12 6	4 6 2 1 1 0	0 0 0 0
Uliao (Oala 1w, Soli Yanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka	3 man 3w, Siaka 1m ific st Doec: run on run on	o 2 w) 1st I c & ke ut (Fi ut (Ja t	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out	30 17 9 7 15	M 50 41 14 8 10	B 50 19 12 6 12	4 6 2 1 1 0 1	0 0 0 0 1
Uliao (Oala 1w, Soli Yanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi	3 man 3w, Siaka 1m ific st Doec: run of run of no: no:	o 2 w) 1st I c & ke ut (Fi ut (Jat t t t) to bat	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out	30 17 9 7 15	M 50 41 14 8 10	B 50 19 12 6 12	4 6 2 1 1 0 1	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao	3 man 3w, Siaka 1m ific st Doec: run of run of nor did no did no	o 2 w) 1st I c & ke ut (Fi ut (Ja t t t t bot bat bot bat	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out	30 17 9 7 15	M 50 41 14 8 10	B 50 19 12 6 12	4 6 2 1 1 0 1	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy	3 man 3w, Siaka 1m ific st Doec: run of run of no did no did no did no	o 2 w) 1st I c & ke ut (Fi ut (Ja t t t ot bat ot bat ot bat ot bat ot bat	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out	30 17 9 7 15	M 50 41 14 8 10	B 50 19 12 6 12	4 6 2 1 1 0 1	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pacase V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa	3 man 3w, Siaka 1m ific st Doec: run of run of no: did no did no did no did no did no	o 2 w) 1st I c & ke ut (Fi ut (Ja t t t t t t t t t t t t t	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out	30 17 9 7 15 14 0	M 50 41 14 8 10	B 50 19 12 6 12	4 6 2 1 1 0 1	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy	3 man 3w, Siaka 1m ific st Doec: run of run of no did no did no did no	o 2 w) 1st I c & ke ut (Fi ut (Ja t t t t t t t t t t t t t	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out	30 17 9 7 15	M 50 41 14 8 10	B 50 19 12 6 12	4 6 2 1 1 0 1	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras	3 man 3w, Siaka 1m ific st Doec: run of run of no: did no did no did no did no did no	o 2 w) 1st I c & ke ut (Fi ut (Ja t t t t t t t t t t t t t	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out	30 17 9 7 15 14 0 	M 50 41 14 8 10	B 50 19 12 6 12	4 6 2 1 1 0 1	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pacase V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras TOTAL (18.2	3 man 3w, Siaka 1s ific st Doec: run of run of no: did no did no did no did no did no did no overs)	M) 1st I c & ke ut (Fi ut (Ja t t t bot bat bot bat bot bat o, 18w	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out , 5nb) 5 wkt	30 17 9 7 15 14 0 - 26 s 118	M 50 41 14 8 10 17 1	B 50 19 12 6 12 12 0	4 6 2 1 0 1 0	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pacase V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras TOTAL (18.2	3 man 3w, Siaka 1s ific st Doec: run of run of no: did no 3	w) 1st I c & ke ut (Fi ut (Ja t t t bat bat bat bat bat bat o, 18w M 0 1	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out , 5nb) 5 wkt	30 17 9 7 15 14 0 - 26 s 118	M 50 41 14 8 10 17 1	B 50 19 12 6 12 12 0	4 6 2 1 1 0 1 0	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pacage V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras TOTAL (18.2 Mansell Tansell	3 man 3w, Siaka 1s ific st Doec: run of run of no: did no 3 2	w) 1st I c & ke ut (Fi ut (Ja t t t bat bat bat bat bat bat o, 18w M 0 1 1	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out , 5nb) 5 wkt	30 17 9 7 15 14 0 - - 26 s 118	M 50 41 14 8 10 17 1	B 50 19 12 6 12 12 0	4 6 2 1 0 1 0	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pacase V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras TOTAL (18.2 Mansell Tansell Faint	3 man 3w, Siaka 1s ific st Doec: run of run of no: did no did no did no did no did no overs) 0 3 2 2	w) 1st I c & ke ut (Fi ut (Ja t t t bat bat bat bat bat bat o, 18w M 0 1 1 0 1	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out , 5nb) 5 wkt R W 9 0 3 0 7 0	30 17 9 7 15 14 0 - - 26 s 118	M 50 41 14 8 10 17 1	B 50 19 12 6 12 12 0	4 6 2 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pacase V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras TOTAL (18.2 Mansell Tansell Faint	3 man 3w, Siaka 1s ific st Doec: run of run of no: did no 3 2	w) 1st I c & ke ut (Fi ut (Ja t t t bat bat bat bat bat bat o, 18w M 0 1 1 0 1	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out , 5nb) 5 wkt	30 17 9 7 15 14 0 - - 26 s 118	M 50 41 14 8 10 17 1	B 50 19 12 6 12 12 0	4 6 2 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 1
Uliao (Oala 1w, Solmanagida 1w, East Asia Pacase V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras TOTAL (18.2 Mansell Tansell Faint Jameson	3 man 3w, Siaka 1s ific st Doec: run of run of no: did no did no did no did no did no overs) 0 3 2 2	w) 1st I c & ke ut (Fi ut (Ja t t bot bat bot bat ot bat of 1 0 1 0 1	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out , 5nb) 5 wkt R W 9 0 3 0 7 0	30 17 9 7 15 14 0 - - 26 s 118	M 50 41 14 8 10 17 1	B 50 19 12 6 12 12 0	4 6 2 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 1
Yanagida lw, East Asia Pac: V Frank T Ruma *P Siaka S Solman K Oala N Ovasuru +H Buruka E Kobayashi M Yanagida M Uliao S Jimmy R Oa Extras	3 man 3w, Siaka 1s ific st Doec: run of run of no: did no did no did no did no did no did no covers) 0 3 2 2 3	w) 1st I c & ke ut (Fi ut (Ja t t bot bat ot bat ot bat of 1 0 1 0 1 0 1	nnings b Fiebig b Jameson b Galbraith ebig) meson) out out , 5nb) 5 wkt R W 9 0 3 0 7 0 5 1	30 17 9 7 15 14 0 - - 26 s 118	M 50 41 14 8 10 17 1	B 50 19 12 6 12 12 0	4 6 2 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 1

Howie 11w)

NEW SOUTH WALES v NORTHERN TERRITORY

Played at Ziems Park, Corrimal on January 7, 2017. (Twenty20 match)

Toss: New South Wales. Result: NEW SOUTH WALES WON BY 34 RUNS. Umpires: N Findlay & S Saye. Scorers: A Brockley (NSW) & M Pemberton (NT).

Points: New South Wales 4; Northern Territory 0.

ACCC Debuts: New South Wales: K Beaumont, R Van-Veen.

Innings Details: none.

New South Wal	es	1st	Ini	nings	3					
							Μ	В	4	6
A Edgar			b	Clou	ighessy	16		26	0	0
+R Cady			b	Mon	Hunter	42		39	2	0
GA McDonald	c Stray		b	Clou	ighessy	32		38	0	0
*L Griffith		lbv	v b	Mon	Hunter	4		10	0	0
K Rowlings	c Cloug	hessy	y b	Toml	ins	2		2	0	0
R Van-Veen	no	t		C	out	4		5	0	0
K Jackson	no	t		C	out	0		1	0	0
TE Kavanagh	did n	ot ba	at			-				
K Beaumont	did n	ot ba	at			-				
MS Norup	did n	ot ba	at			-				
L Avard	did n	ot ba	at			-				
S Manns	did n	ot ba	at			-				
Extras	(32w, 1	nb)				33				
TOTAL (20 ov	ers)				5 wkts	133				
	0	М	R	W						
Gray	2.	0	13	0		1- 37	(E	dgar)	
Muller	3	0	11	0		2- 91		adv)	,	
Cloughessy	4	0	20	2		3-105	,	4,	ith)
Hartung	2	0	16	0		4-121	,	owli		
Shearer	2.	0	14	0		5-133	•	cDon	_	
Munro	1	0	14	0		0 100	(02011	<u> </u>	,
Monet Hunter	2	0	18	2						
Kaukura	3	0	19	0						
Tomlins	1	0	8	1						

(Gray 3w, Cloughessy 6w, Hartung 5w, Shearer 2w, Munro 7w, Monet Hunter 6w, Kaukura 1w, Tomlins 2w 1nb)

Northern Territory 1st Innings

6 0 0 0 0 0 0
)))))
)))
)))
0
)
-
٦
J
C
у)
ter)

(Norup 1w, Jackson 1nb, Avard 1w, Manns 1w, Edgar 1w)

VICTORIA v WESTERN AUSTRALIA

Played at Judy Masters Park, Balgownie on January 7, 2017. (Twenty20 match)

Toss: Western Australia. Result: VICTORIA WON BY EIGHT WICKETS. Umpires: P Ferguson & D Went. Scorers: B Godwin (Vic) & Z Muhammed (WA).

Points: Victoria 4; Western Australia 0.

ACCC Debuts: Western Australia: GP Middleton, JM Roberts, MJ Saunders, ME Thompson, CA Wain, C Winchcombe.

Innings Details: none.

Williams 2w)

Western Austr	alia	1st I	Innings			М	В	4	6
*ME Thompson L Mainwaring				agher out	0 12		٥	-	Ü
	c Towns	end	b Mosc	ript	3				
HR Biddulph			b Mosc	ript	0				
K Pepper		C &	b Town	send	10				
K Van Spall	run o				14				
S Williams	- t- T			andler					
MJ Saunders GP Middleton	st Lync	n	b Crof	t andler	5 0				
C Winchcombe	no	+		ut	7				
JM Roberts	no			ut	5				
M Knox	did n	ot bat			-				
Extras	(1b, 21	b, 14v	w, 4nb)		21				
TOTAL (20 ov	ers)			9 wkts	89				
	0	М	R W						
Gallagher	4	1 1	13 1		1-				
Croft	4		10 1		2-				
O'Donnell Townsend	2 4	0 2	24 0 L5 1		3 – 4 –				
Goodger-Chand	·=		16 2		5-				
Moscript	2	0	9 2		6-				
(Gallagher 2w Townsend 1w Goodger-Chan Moscripy 2w)	2nb,		Ň,		7- 8- 9-				
Victoria		1st I	Innings			М	В	4	6
C Moscript		lph	b Robe	erts	3	М	В	4	6
C Moscript R O'Donnell	c Biddu	lph lph	b Robe	rts waring	35	М	В	4	6
C Moscript R O'Donnell +E Lynch	c Biddu no	lph lph t	b Robe b Mair	erts waring out	35 23	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend	c Biddu no no	lph lph t	b Robe b Mair	rts waring	35	М	В	4	6
C Moscript R O'Donnell +E Lynch	c Biddu no no did n	lph lph t	b Robe b Mair	erts waring out	35 23	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher	c Biddu no no did n did n	lph lph t t ot bat	b Robe b Mair c	erts waring out	35 23	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker	c Biddu no no did n did n did n	lph lph t t ot bat ot bat	b Robe b Mair	erts waring out	35 23	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins	c Biddu no no did n did n did n andler d	lph lph t t ot bat ot bat ot bat id not	b Robe b Mair c	erts waring out	35 23 15 - - - -	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine	c Biddu no no did n did n did n andler d did n did n	lph lph t t ot bat ot bat ot bat id not ot bat	b Robe b Mair c	erts waring out	35 23	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald	c Biddu no no did n did n did n andler d did n did n	lph lph t t ot bat ot bat id not ot bat id not ot bat ot bat	b Robe b Mair c c c c c b b b b b b b b b b b c	erts waring out	35 23 15 - - - - -	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel	c Biddu no no did n did n did n andler d did n did n did n	lph lph t t ot bat ot bat ot bat id not ot bat ot bat ot bat ot bat	b Robe b Mair c c c c b b b b c c c c c c c c c c c	erts waring out	35 23 15 - - - - -	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald	c Biddu no no did n did n did n andler d did n did n did n	lph lph t t ot bat ot bat ot bat id not ot bat ot bat ot bat ot bat	b Robe b Mair c c c c b b b b c c c c c c c c c c c	erts waring out	35 23 15 - - - - -	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel	c Biddu no no did n did n did n andler d did n did n did n (1b, 10)	lph lph t t ot bat ot bat ot bat id not ot bat ot bat ot bat ot bat	b Robe b Mair c c c c b b b b c c c c c c c c c c c	erts waring out	35 23 15 - - - - - - 17	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel Extras TOTAL (17 o	c Biddu no no did n compared to the compared t	lph lph t t ot bat ot bat id not ot bat ot bat ot bat w, 6nh	b Robe b Mair c c c c c c c c c c c c c c c c c c c	erts waring uut uut	35 23 15 - - - - 17 93	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel Extras TOTAL (17 o	c Biddu no no did n 3	lph lph t t ot bat ot bat id not ot bat ot bat ot bat w, 6nh	b Robe b Mair c c c c c c c c c c c c c c c c c c c	erts waring uut uut	35 23 15 - - - - 17 93	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel Extras TOTAL (17 o	c Biddu no no did n 3 2	lph lph t t ot bat ot bat id not ot bat ot bat ot bat w, 6nh	b Robe b Mair c c c c c c c c c c c c c c c c c c c	erts waring uut uut	35 23 15 - - - - 17 93	M	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel Extras TOTAL (17 o	c Biddu no no did n c (1b, 10)	lph lph t t ot bat ot bat id not ot bat ot bat ot bat w, 6nh	b Robe b Mair c c c c c c c c c c c c c c c c c c c	erts waring uut uut	35 23 15 - - - - 17 93	M	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel Extras TOTAL (17 o	c Biddu no no did n 3 2	lph lph t t ot bat ot bat id not ot bat ot ba of bat	b Robe b Mair c c c c c c c c c c c c c c c c c c c	erts waring uut uut	35 23 15 - - - - 17 93	М	В	4	6
C Moscript R O'Donnell +E Lynch S Townsend *E Gallagher T Parker L Croft JK Goodger-Ch P Jenkins H Irvine E Donald B Chesterfiel Extras TOTAL (17 o	c Biddu no no did n c (1b, 10) vers)	lph lph t t ot bat ot bat id not ot bat ot bat ot bat ot bat ot bat ot bat ot of bat of of of	b Robe b Mair c c c c c c c c c c c c c c c c c c c	erts waring uut uut	35 23 15 - - - - 17 93	М	В	4	6

NEW SOUTH WALES v EAST ASIA PACIFIC

Played at University No.1 Oval, Keiraville on January 8, 2017. (Twenty20 match)

Toss: East Asia Pacific. Result: NEW SOUTH WALES WON BY THREE WICKETS.

6- 85 (Lugg)

7-86 (Beaumont)

Umpires: J Burgoyne & J Walker. Scorers: A Brockley (NSW) & M Head (EAP).

Points: New South Wales 4; East Asia Pacific 0.

ACCC Debuts: nil. Innings Details: none.

(Oala 1nb, Frank 2w)

East Asia Pac	ific	1st I	nnings	3					
						М	В	4	6
V Frank			b Jacl	cson	3		19	0	0
T Ruma	c Griffi	th	b Noru	ıρ	4		7	0	0
*P Siaka	c Lugg		b Manı	ıs	18		26	3	0
S Solman	c Kavana		b Jacl		0		3	0	0
N Ovasuru	not	_		out	35		36	3	0
K Oala	c Kavana		b Noru		31		29	3	1
K John	not	_		out	0		0	0	0
M Yanagida	did no			<i>,</i> 40	_		0	Ü	Ü
+H Buruka	did no				_				
R Oa	did no				_				
S Jimmy	did no				_				
_					_				
E Kobayashi	did no	il Dal							
Extras	(1b, 8w)				9				
TOTAL (20 ov	ers)			5 wkts	100				
	0	.,	D 17						
0	0		R W		1 11	/D	\		
Griffith	2 5		0 0		1- 11 2- 15		ıma) rank	١	
Norup Edgar	3		3 0		3- 15	•	olma	,	
Jackson	3		3 2		4- 38		iaka		
Riddell	2		0 0		5-100	•	ala)	,	
Beaumont	3	0 1	7 0			,	·		
Manns	2	0 1	5 1						
(Griffith 2w, Edgar 3w, Be	aumont 2w)	nnings	3					
		100 1				М	В	4	6
A Edgar			b Fran	nk	30		36	5	0
R Cady		1 bw	b Oala		1		3	0	0
R Van-Veen			b Ovas		5		19	0	0
*L Griffith	not			out	34		34	1	
K Rowlings	1100				U -			_	Ο
K Jackson			b Sial	ca .	1			0	0
	c Ruma		b Sial		1		2	-	0
+M Taiaa	c Ruma		b Sial		9		2 16	1	0
+M Lugg	c Ruma run ou		b Sial ruka)	κa	9 2		2 16 4	1	0 0
K Beaumont	run ou	it (Bu	b Sial ruka) b Sial	ca ca	9 2 1		2 16 4 2	1 0 0	0 0 0
K Beaumont A Riddell	run ou not	it (Bu	b Sial ruka) b Sial	κa	9 2		2 16 4	1	0 0
K Beaumont A Riddell TE Kavanagh	run ou not did no	t (Bu	b Sial ruka) b Sial	ca ca	9 2 1 11 -		2 16 4 2	1 0 0	0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup	run ou not did no did no	t (Bu	b Sial ruka) b Sial	ca ca	9 2 1		2 16 4 2	1 0 0	0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns	run ou not did no did no did no	t (Bu t bat t bat t bat	b Sial ruka) b Sial	ca ca	9 2 1 11 - -		2 16 4 2	1 0 0	0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup	run ou not did no did no	t (Bu t bat t bat t bat	b Sial ruka) b Sial	ca ca	9 2 1 11 -		2 16 4 2	1 0 0	0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns	not did no did no did no (3b, 3lb	t (Bu t bat t bat t bat	b Sial ruka) b Sial	ca ca	9 2 1 11 - - 9		2 16 4 2	1 0 0	0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns Extras	not did no did no did no (3b, 3lb	t (But bat bat bat bat, 2w,	b Sial ruka) b Sial	ca ca out	9 2 1 11 - - 9		2 16 4 2	1 0 0	0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns Extras	run ou not did no did no did no (3b, 31b	t bat bat bat, 2w,	b Sial ruka) b Sial	ca ca out	9 2 1 11 - - 9	(Ca	2 16 4 2 6	1 0 0	0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns Extras TOTAL (20 c	run ou not did no did no did no (3b, 31b	t (But bat bat bat bat bat bat bat bat bat ba	b Sial ruka) b Sial (1nb)	ca ca out	9 2 1 11 - - 9 103		2 16 4 2 6	1 0 0 2 2	0 0 0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns Extras TOTAL (20 c	run ou not did no did no did no (3b, 3lb evers)	t (But bat bat bat bat bat bat bat bat bat ba	b Sial ruka) b Sial (1nb) R W 3 0 8 1	ca ca out	9 2 1 11 - - 9 103	(Va	2 16 4 2 6	1 0 0 2	0 0 0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns Extras TOTAL (20 c	run ou not did no did no did no (3b, 3lb evers) O 4 4 4	t (But bat bat bat bat bat bat bat bat bat ba	b Sial ruka) b Sial (1nb) R W 3 0 8 1 6 1	ca ca out	9 2 1 111 9 9 103 1 - 2 2 - 21 3 - 48	(Va	2 16 4 2 6	1 0 0 2	0 0 0 0 0
K Beaumont A Riddell TE Kavanagh MS Norup S Manns Extras TOTAL (20 c	run ou not did no did no did no (3b, 3lb evers)	t (But batt batt batt, 2w, M 0 1 1 0 2 0 2 2	b Sial ruka) b Sial (1nb) R W 3 0 8 1	ca ca out	9 2 1 11 - - 9 103	(Va (Ed	2 16 4 2 6	1 0 0 2 2	0 0 0 0 0

NORTHERN TERRITORY v QUEENSLAND

Played at University No.2 Oval, Keiraville on January 8, 2017. (Twenty20 match)

Toss: Queensland. Result: QUEENSLAND WON BY 32 RUNS.

Umpires: S Saye & D Young. Scorers: M Pemberton (NT) & L Maloney (Qld).

Points: Northern Territory 0; Queensland 4. **ACCC Debuts**: Queensland: S Morgan.

Innings Details: none.

Queensland	1st	Innings	м в 4 6	
+A Weeks	c Roberts	b Hartung	M B 4 6	
A Paton	run	out	16 36 31 1 0	
*S Baldwin	c ?	b Mon Hunte		
E Flynn	c Page	b Hartung	10 12 12 1 0	
M Dixon	c?	b Stray	14 16 11 1 0	
S Morgan	c ?	b Stray	16 20 14 1 0	
HJ Clarke	st Taylor	b Kaukura	6 6 6 0 0	
CA Cooper	run out (Roberts-Stray) 1 3 1 0 0	
J Carroll	not	out	2 7 7 0 0	
A Spina	not	out	2 4 3 0 0	
L Shackleton	did not b	at	-	
AJ Cartwright	did not b	at	-	
Extras	(41b, 12w,	1nb)	17	
TOTAL (20 ove	ers)	8 wkt:	 s 114	
	О М	R W		
Muller	4 0	14 0	1- 34 (Weeks)	
Gray	3 0	11 0	2- 40 (Paton)	
Shearer	2 0	13 0	3- 66 (Flynn)	
Hartung	3 0	20 2	4- 77 (Baldwin)	
Monet Hunter	2 0 3 0	17 1 17 2	5- 97 (Dixon) 6-109 (Clarke)	
Stray Kaukura	3 0	18 1	7-109 (Morgan)	
(Muller 1w, G Shearer 3w, Monet Hunter	Hartung 1w,	ay 1w)	8-111 (Cooper)	
Northern Terr	itory 1st	Innings	M B 4 6	
J Page	c Carroll	b Cooper	M B 4 6 6 7 1 0	
*B Stray	C CUITOII	b Flynn	21 45 32 2 0	
L Muller		b Dixon	24 32 30 2 0	
M Kaukura		b Flynn	16 21 19 2 0	
C Gray		b Clarke	0 1 4 0 0	
Monet Hunter		b Clarke	0 1 1 0 0	
S Roberts	c Dixon	b Flynn	1 3 3 0 0	
Matisse Hunte	r	b Flynn	0 1 1 0 0	
E Shearer		b Flynn	1 13 4 0 0	
+L Taylor	c ?	b Flynn	0 1 1 0 0	
R Hartung	not	out	1 8 8 0 0	
R Tomlins	did not b		-	
Extras	(1b, 1lb, 9	w, Inb)	12	
TOTAL (18.1	overs)		82	
	О М	R W		
Shackleton	2 0	11 0	1- 9 (Page)	
Cooper	2 0	10 1	2- 58 (Muller)	
Dixon	4 0	11 1	3- 63 (Stray)	
Cartwright	1 0	12 0	4- 64 (Page)	
Baldwin	1 0	7 0	5- 64 (Monet Hunte	er)
Clarke	4 0	23 2	6- 67 (Roberts)	
Flynn	3.1 2	4 6	7- 67 (Matisse Hu	nter)
Morgan	1 0	2 0	8- 79 (Kaukura)	
			9- 79 (Taylor)	
(Dixon 1w, Car Baldwin 4w 1)	10- 82 (Shearer)	

SOUTH AUSTRALIA v WESTERN AUSTRALIA

Played at Zeims Park, Corrimal on January 8, 2017. (Twenty20 match)

Toss: Western Australia. Result: SOUTH AUSTRALIA WON BY 71 RUNS.

Umpires: D Cullen & D Dobinson. Scorers: D Billet (SA) & Z Muhammed (WA).

Points: South Australia 4; Western Australia 0.

ACCC Debuts: nil. Innings Details: none.

minings betains. Hone.												
South Australia 1st Innings												
			5 -		M	В	4	6				
H Armstrong	st Wain	b	Saunders	13	31	32	0	0				
BA Perry	not		out	45	82	49	2	0				
C Fiebig	run out	(Thom	pson)	21	25	22	3	0				
*+J Doecke	not		out	21	25	22	3	0				
S Jameson	did not	bat		-								
E Faint	did not	bat		-								
JL Howie	did not	bat		-								
K Armstrong	did not	bat		-								
FL Mansell	did not			-								
S Tansell	did not	bat		-								
R Cummings	did not			-								
CA Galbraith				-								
Extras	(1b, 2lb,	16w,	2nb)	21								
TOTAL (82 mi	n, 20 over	s)	2 wkts	121								
	0 1	M R	W									
Roberts	-	1 15	0	1 - 3	2 (H	Δrm	str	ona)				
Middleton		0 18	0		3 (F			01197				
Williams	2	0 11	0				-					
Saunders	4	0 19	1									
Pepper		0 8										
Thompson		0 29	-									
Van Spall	2	0 14	0									
(Roberts 1w,	Middleton	7w,										
Williams 3w,												
Thompson 1w	1nb, Van S	pall 1	w 1nb)									

Western Australia 1st Innings

Mescern Muscre	arra	TO C	T 111	IIIIGS					
						M	В	4	6
+CA Wain			b	Cummings	9	19	14	1	0
MJ Saunders	c Jameso	n	b	K A'strong	12	42	35	0	0
HR Biddulph	c Doecke		b	Jameson	7	19	18	0	0
S Williams			b	Jameson	0	1	1	0	0
K Van Spall	run ou	t (1	K A:	rmstrong)	0	1	0	0	0
JM Roberts		lb	w b	Fiebig	0	5	5	0	0
K Pepper	run out	(Tai	nse:	ll-Doecke)	1	4	1	0	0
GP Middleton	c Jameso	n	b	Fiebig	8	11	10	0	0
*ME Thompson	c Perry		b	Fiebig	1	10	4	0	0
C Winchcombe	not			out	0	5	0	0	0
SJ Prickett			b	Fiebig	0	0	1	0	0
L Mainwaring	did no	t b	at		-				
Extras	(1b, 11b	, 1	0w)		12				
TOTAL (14.5	overs)				50				
	0	М	R	W					
Galbraith	4	0	18	0	1-	- '	Wain)		
Tansell	2	0	6	0	2-	,	Biddu	-	
Cummings	2	0	6	1	3-	•	Willi		,
Jameson	2	0	3	2	4 –	,	Van S	-	
K Armstrong	3	1	12	1	5-		Saund		
Fiebig	1.5	0	3	4	6-	•	Rober		
							Peppe		
(Galbraith 3w,					8 –	•	Middl		,
Cummings 2w,	K Armstr	ong	3w)		9-	(Thomp		
					10-	50 (Prick	ett	.)

EAST ASIA PACIFIC v NORTHERN TERRITORY

Played at University No.2 Oval, Keiraville on January 8, 2017. (Twenty20 match)

Toss: East Asia Pacific. Result: EAST ASIA-PACIFIC WON BY EIGHT WICKETS.

Umpires: S Saye & L Walker. Scorers: M Head (EAP) & M Pemberton (NT).

Points: East Asia Pacific 4; Northern Territory 0.

ACCC Debuts: nil. Innings Details: none.

Northern Terr	itory	1st	. Ini	nings						
	_			_			M	В	4	6
J Page			b	Oala		2	13	7	0	0
*B Stray			b	Oa		3	10	10	0	0
L Muller	c Solman	n	b	0a		8	17	14	1	0
JH Munro		lb	w b	Jimm	У	2	23	14	0	0
M Kaukura			b	?		9	16	11	0	0
C Gray			b	?		15	27	20	1	0
A Cloughessy			b	?		0	7	10	0	0
S Roberts	no	t		0	ut	9	33	20	0	0
E Shearer	rui	n		0	ut	2	8	8	0	0
Monet Hunter	no-	t		0	ut	1	13	8	0	0
R Hartung	did no	ot b	at			_				
+L Taylor+	did no	ot b	at			_				
Extras	(21b, 4	w, 2	nb)			8				
TOTAL (20 ov	ers)				8 wkts	5 5 9				
	0	М	R	W						
Oa	4	0	11	2		1-	6 (S	tray	·)	
Oala	3	0	7	1		2-	8 (P	age)		
Siaka	4	0	9	1		3- 3	- '	ulle		
Jimmy	4	1	10	3			25 (M			
Yanagida	3	0	15	0			34 (K			
Ovasuru	2	0	4	0			36 (C	_		sy)
(0= 0= 0= 1=	1							ray)		
(Oa 2w, Oala Jimmy 1w, Ya	•	nb)				8- 5	эт (S	hear	er)	

 $1-6\,(B\ Stray)\ 2-8\,(J\ Page)\ 3-18\,(L\ Muller)\ 4-25\,(JH\ Munro)\ 5-34\,(M\ Kaukura)\ 6-36\,(A\ Cloughessy)\ 7-48\,(C\ Gray)\ 8-51\,(E\ Shearer)$

East Asia Pacific 1st Innings

				J -						
							M	в В	4	6
V Frank	c Shear	er	b	Cloud	hessy	5	25	17	0	0
M Yanagida			b	Mulle	er	0	4	4	0	0
*P Siaka	no	t		ου	ıt	21	47	29	1	0
+H Buruka	no	t		ου	ıt	14	27	19	0	0
T Ruma	did n	ot b	at			_				
N Ovasuru	did n	ot b	at			_				
K Oala	did n	ot b	at			_				
S Solman	did n	ot b	at			_				
R Oa	did n	ot b	at			_				
S Jimmy	did n	ot b	at			_				
K John	did n					_				
E Kobayashi	did n					_				
Extras	(1b, 16					20				
	(===, ===	,	,							
TOTAL (11	overs)			2	wkts	60				
1011111 (11	OVCID,			-	WILCO	00				
	0	М	R	W						
Muller	4	1	7	1		1- 3	2. (Yanaq	ri da)
Gray	2	0	11	0				Frank		′
Cloughessy	2	0	8	1			, ,		,	
Munro	1	0	13	0						
Shearer	1	0	16	0						
Strav	1	0	3	0						
ocray	_	U	J	U						

(Gray 2w 1nb, Cloughessy 1w, Munro 5w, Shearer 6w 2nb Stray 1w)

NEW SOUTH WALES v VICTORIA

7 2 0

Played at North Dalton Park, Towradgi on January 8, 2017. (Twenty20 match) (Day/Night)

Toss: New South Wales.

Result: NEW SOUTH WALES WON BY 24 RUNS.

Umpires: D Cullen & D Young. Scorers: A Brockley (NSW) & B Godwin (Vic).

b Gallagher 9

Points: New South Wales 4; Victoria 0.

c Croft

1st Innings

ACCC Debuts: nil. Innings Details: none.

New South Wales

A Edgar

A Edgar	c Croft b	Gallagher	9	7 2 0
+R Cady	c Gallagher k	Donald	41	40 8 0
GA McDonald	run out (Lyr	ich)	4	14 0 0
*L Griffith	not	out	29	45 3 0
A Riddell	not	out	14	14 0 1
K Jackson	did not bat		-	
TE Kavanagh	did not bat		-	
K Beaumont	did not bat		-	
MS Norup	did not bat		-	
L Avard	did not bat		-	
S Manns	did not bat		-	
M Lugg	did not bat		-	
Extras	(11w)		11	
TOTAL (20 ov	vers)	3 wkts	108	
	O M F	R W		
Moscript	4 0 17		1- 9	(Edgar)
Gallagher	4 1 15			(McDonald)
Donald	2 0 23		3- 85	(Cady)
Croft	4 0 14		5 05	(caay)
Townsend	4 0 22			
Goodger-Chand				
Donald 5w, Common Townsend 1w, Victoria C Moscript R O'Donnell S Townsend T Parker P Jenkins L Croft E Donald *E Gallagher +E Lynch JK Goodger-Ch B Chesterfiel H Irvine Extras	Goodger-Chandle 1st Ir run c Norup run out (Mar	nnings Norup out Beaumont Kavanagh nns) Norup cup) out out bat	1 13 15 19 9 11 0 0 - - 15	M B 4 6 11 0 0 6 0 0 16 0 0 33 0 0 32 0 0 12 0 0 9 0 0 0 0 0 1 0 0
Griffith Norup Edgar Beaumont Avard Manns Riddell Kavanagh	O M F 4 0 14 4 1 11 4 0 17 2 0 14 2 0 9 2 0 6 1 0 5	0 2 2 0 1 1 0 0 0 5 0 0 5 0 0	1- 2 2- 5 3- 23 4- 60 5- 63 6- 79 7- 83	(Moscript) (O'Donnell) (Townsend) (Jenkins) (Parker) (Donald) (Croft)

(Griffith 2w)

QUEENSLAND v WESTERN AUSTRALIA

Played at University No.1 Oval, Keiraville on January 8, 2017. (Twenty20 match) (Day/Night)

Toss: Western Australia.

Result: QUEENSLAND WON BY SEVEN WICKETS.

Umpires: J Burgoyne & J Walker. Scorers: L Maloney (Qld) & Z Muhammed (WA).

Points: Queensland 4; Western Australia 0. **ACCC Debuts**: Western Australia: BL Crook.

Innings Details: none.

Western Austr	alia	1st I	nnings				
		100 1			м в	4	6
*+CA Wain]	o Clarke	8	10	0	0
JM Roberts	c Weeks]	o Dixon	0	4	0	0
K Van Spall		lbw 1	o Dixon	8	14	1	0
HR Biddulph	c Dixon]	Shackleton	. 11	15	2	0
K Pepper]	o Clarke	4	7	1	0
SJ Prickett		lbw 1	o Shackleton	. 20	23	3	0
S Williams	not		out	19	20	1	0
MJ Saunders]	o Carroll	10	8	1	0
BL Crook]	o Morgan	0	2	0	0
GP Middleton]	o Carroll	0	2	0	0
C Winchcombe	not		out	7	16	0	0
ME Thompson	did no			-			
Extras	(1b, 31b	, 10w	, 1nb)	15			
TOTAL (20 ov	ers)		9 wkts	102			
	0	M]	R W				
Dixon	4	1 1:		1- 2	(Rober	ts)	
Clarke	4	0 1		2- 16			1)
Shackleton	3	0 1		3- 18	,	Pull	_ /
Flynn	4	0 2		4- 25		r)	
Morgan	2	0 1	5 1	5- 36	,)
Carroll	3	0 1	3 2	6- 64		_	
				7- 80	(Saund	ers))
(Dixon 2w, Cl	arke 1w,			8- 85	(Crook)	
Shackleton 1	w, Flynn	4w 1nl	·,	9- 89	(Middl	etor	n)
Morgan 1w, C	arroll 1w)					
	arroll 1w						
Morgan 1w, C Queensland	arroll 1w		nnings		мъ	4	6
Queensland		1st I	_	26	М В 16	4 5	6
Queensland +A Weeks	st Wain	1st I	Saunders	26 39	16	5	0
Queensland +A Weeks CA Musk		lst I	Saunders out	39			
Queensland +A Weeks	st Wain	lst In	Saunders		16 37	5 4	0
Queensland +A Weeks CA Musk *S Baldwin	st Wain not	1st In	Saunders out Roberts	39 5	16 37 8	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll	st Wain not	1st In	o Saunders out o Roberts out	39 5 7	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan	st Wain not run not	lst In	o Saunders out o Roberts out	39 5 7	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton	st Wain not run not did no	lst In lbw	o Saunders out o Roberts out	39 5 7	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper	st Wain not run not did no did no	lst In lbw lat bat t bat t bat t bat	o Saunders out o Roberts out	39 5 7	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton	st Wain not run not did no did no did no	lst In lbw l t bat t bat t bat t bat t bat	o Saunders out o Roberts out	39 5 7	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke	st Wain not run not did no	lst In lbw l t bat	o Saunders out o Roberts out	39 5 7	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn	st Wain not run not did no	lst In lbw l t bat	o Saunders out o Roberts out	39 5 7	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright	st Wain not run not did no	lst In lbw l t bat	Saunders out Roberts out out	39 5 7 0 - - -	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon	st Wain not run not did no	lst In lbw l t bat	Saunders out Roberts out out	39 5 7 0 - - - - - - 26	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras	st Wain not run not did no	lst In lbw l t bat	Saunders out Roberts out out	39 5 7 0 - - - - - - 26	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras	st Wain not run not did no codid no did no did no did no did no did no did no	lst In lbw l t bat	Saunders out Roberts out out out	39 5 7 0 - - - - - - 26	16 37 8 11	5 4 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras TOTAL (11.5	st Wain not run not did no did no did no did no did no did no codid no did no did no or	lst In lbw l t bat f b	Saunders out Roberts out out out	39 5 7 0 - - - - 26 103	16 37 8 11 1	5 4 0 0 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras TOTAL (11.5	st Wain not run not did no did no did no did no did no did no codid no did no did so	lst In lbw I t bat 0 1	Saunders out Roberts out out out and out out out out	39 5 7 0 - - - - 26 103	16 37 8 11 1	5 4 0 0 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras TOTAL (11.5	st Wain not run not did no did no did no did no did no did no codid no did no did so	lst In lbw I lbw I t bat 0 1 0 2	Saunders out Roberts out out out and out out out out out out	39 5 7 0 - - - 26 103	16 37 8 11 1	5 4 0 0 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras TOTAL (11.5	st Wain not run not did no did so overs) 0 3.5 2 1	lst In lbw I lbw I t bat 0 1 0 2 0 1	Saunders out Roberts out out out and out out out out out out	39 5 7 0 - - - 26 103	16 37 8 11 1	5 4 0 0 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras TOTAL (11.5	st Wain not run not did no did no did no did no did no did no codid no did no did so	lst In lbw I	Saunders out Roberts out out out Inb) 3 wkts W 1 1 0 0 3 0 3 1	39 5 7 0 - - - 26 103	16 37 8 11 1	5 4 0 0 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras TOTAL (11.5	st Wain not run not did no did so did so did so did no 3.5 2 1 3	lst In lbw I lbw I t bat 0 1 0 2 0 1	Saunders out Roberts out out out Inb) 3 wkts R W 1 0 3 0 3 1 7 0	39 5 7 0 - - - 26 103	16 37 8 11 1	5 4 0 0 0	0 0 0
Queensland +A Weeks CA Musk *S Baldwin J Carroll S Morgan A Paton CA Cooper L Shackleton HJ Clarke E Flynn AJ Cartwright M Dixon Extras TOTAL (11.5	st Wain not run not did no did so did no 3.5 2 1 3 1	lst In lbw I	Saunders out Roberts out out out Inb) 3 wkts R W 1 0 3 0 3 1 7 0	39 5 7 0 - - - 26 103	16 37 8 11 1	5 4 0 0 0	0 0 0

(Roberts 1w, Pepper 3w, Middleton 5w, Saunders 4w 1nb, Williams 4w, Biddulph 1w)

NEW SOUTH WALES v SOUTH AUSTRALIA

Played at University No.1 Oval, Keiraville on January 9, 2017. (Twenty20 match)

Result: SOUTH AUSTRALIA WON BY 10 RUNS. Toss: South Australia.

Umpires: G Glazebrook & D Young. Scorers: A Brockley (NSW) & D Billet (SA).

Points: New South Wales 0; South Australia 4.

ACCC Debuts:

Innings Details: South Australia: Perry 50 in ? min ? balls.

South Austral	ia 1s	t Inni	ngs				
					M B	4	6
H Armstrong	c McDonald	l b E	Beaumont	35	43	4	0
BA Perry	not		out	62	54	4	1
*+J Doecke	c Edgar	b N	Jorup	7	8	1	0
C Fiebig	not		out	13	17	1	0
S Jameson	did not	bat		-			
R Cummings	did not	bat		-			
CA Galbraith	did not	bat		-			
FL Mansell	did not	bat		-			
K Armstrong	did not	bat		-			
E Faint	did not	bat		-			
JL Howie	did not	bat		-			
S Tansell	did not	bat		-			
Extras	(21b, 12w,	1nb)		15			
TOTAL (20 ov	ers)		2 wkts	132			
	0 M	f R	W				
Griffith		21	0	1- 72	(H Arm	str	ona)
Norup	4 0	23	1		(Doeck		- 5,
Avard	4 0	27	0		,	,	
Edgar	4 0	23	0				
Riddell	3 0	17	0				
Beaumont	2 0	19	1				
(Griffith 1w	1nb, Norup	3w,					
Avard 5w, Ed	gar 1w,						

Beaumont 2w)

1-72(H Armstrong) 2-98(J Doecke)

New South Wal	es	1st	Inr	nings					
						M	В	4	6
A Edgar		С	& b	Jameson	20		18	3	0
R Cady	c Perry		b	K A'stro	ong 34		33	5	1
A Riddell	run o	ıt (Tans	sell)	3		15	0	0
+M Lugg	rui	า		out	30		28	1	0
*L Griffith	run o	ıt (Peri	cy)	11		11	1	0
R Van-Veen	c JL Ho	wie	b	Fiebig	3		5	0	0
K Rowlings	c E Fair	nt	b	Jameson	2		3	0	0
GA McDonald	not	t		out	13		7	2	0
S Manns	not	t		out	0		0	0	0
L Avard	did no	ot b	at		-				
K Beaumont	did no	ot b	at		-				
MS Norup	did no	ot b	at		-				
Extras	(11b, 5t	w)			6				
TOTAL (20 o	vers)			7 w	kts 122				
	0	М	R	W					
Tansell	2	0	10	0	1- 26	(E	dgar)	
Galbraith	4	0	25	0	2- 61	(R	idde	11)	
Jameson	4	0	18	2	3- 62	(C	ady)		
Mansell	1	0	14	0	4-84	(G	riff	ith)
K Armstrong	4	0	19	1	5- 96	(V	an-V	een)
Faint	1	0	5	0	6-100	(R	owli	ngs)
Fiebig	4	0	30	1	7-121	(L	ugg)		

(Jameson 1w, K Armstrong 2w, Faint 2w)

NORTHERN TERRITORY v WESTERN AUSTRALIA

Played at University No.2 Oval, Keiraville on January 9, 2017. (Twenty20 match)

Toss: Western Australia. Result: NORTHERN TERRITORY WON BY FOUR WICKETS.

Umpires: P Ferguson & M Gawde. **Scorers**: M Pemberton (NT) & Z Muhammed (WA).

Points: Northern Territory 4; Western Australia 0.

ACCC Debuts: Victoria: C Neale.

Innings Details: none.

Western Austr	alia 1	st In	nings		
LOD Maria		11 1-	16 - 1 1		M B 4 6
+CA Wain			Muller		6 21 3 0
*ME Thompson	-		Muller		3 3 0 0
HR Biddulph	c Stray		Gray		1 10 0 0 3 17 1 0
-			Cloughessy		
SJ Prickett S Williams		sy b	out		5 34 1 0 2 24 2 0
	not	h			
K Pepper	a Clayabaa		Kaukura		5 4 0 0 4 5 0 0
C Winchcombe JM Roberts	not	sy D	out		8 4 0 0
L Mainwaring	did not	ha+	out	- -	0 4 0 0
GP Middleton	did not			_	
MJ Saunders	did not			_	
Extras	(4b, 19w,			24	
		11127			
TOTAL (20 ov	ers)		7 wkts	112	
		M R	W		
Muller	4	0 21	2	1- 3	(Thompson)
Gray	3	0 14	1	2- 12	(Biddulph)
Cloughessy	4	0 10	1	3- 31	(Wain)
Hartung		0 21	0	4- 56	-
Tomlins		0 18	1	5- 88	(Prickett)
Kaukura		0 20	1	6- 93	
Stray	1	0 4	1	7- 96	(Winchcombe)
Kaukura 2w) Northern Terr	itory 1	st In	nings		м в 4 6
J Page		b	Thompson	44 3	9 34 5 1
*+B Stray			Pepper		2 44 3 0
L Muller		b	Williams		7 7 1 0
JH Munro	run		out		9 18 1 0
=	c Saunder		Pepper		2 3 0 0
A Cloughessy		d	Van Spall		8 7 0 0
M Kaukura	not		out	2	6 5 0 0
S Roberts	not		out	0	2 0 0 0
E Shearer	did not			-	
R Hartung	did not			-	
L Taylor	did not			_	
R Tomlins Extras	did not (5b, 15w,			23	
EACLAS	(JD, 1JW,	3110)			
TOTAL (19.2	overs)		6 wkts	113	
	0	M R	W		
Roberts	2	0 19	0	1- 68	(Page)
Pepper	4	0 16	2	2- 78	(Muller)
Saunders		0 18	0	3-101	(Stray)
Van Spall	3.2	1 13	1	4-105	(Gray)
Thompson	2	0 11	1	5-111	(Cloughessy)
Williams	4	0 18	1	6-111	(Munro)
Biddulph	2	1 13	0		
(Roberts 3w 1			Ü		

(Roberts 3w 1nb, Pepper 4w, Van Spall 3w, Thompson 2w, Williams 2w 1nb, Biddulph 1w 1nb)

QUEENSLAND v VICTORIA

Played at Judy Masters Park, Balgownie on January 9, 2017. (Twenty20 match)

Toss: Victoria.

Result: VICTORIA WON BY 18 RUNS.

Umpires: L Walker & D Went. Scorers: L Maloney (Qld) & B Godwin (Vic).

Points: Queensland 0; Victoria 4.

ACCC Debuts: nil. Innings Details: none.

Victoria		1st	Inr	nings		
						M B 4 6
L Croft			b	Dixon	13	13 1 0
R O'Donnell	c Shackl	eton	b	Cartwright	17	18 3 0
P Jenkins		C &		Shackleton	4	13 0 0
S Townsend				Flynn	17	17 1 0
E Donald				Flynn	9	13 0 0
+E Lynch				Clarke	4	7 0 0
B Chesterfiel				Flynn	0	3 0 0
-	c Baldwi			Flynn	14	15 0 0
T Parker	- 0	C &		Clarke	0	5 0 0
*E Gallagher C Neale	c Cooper		D	Shackleton out	8	10 0 0
H Irvine	did no	t ha	+	out	_	1 0 0
Extras	(31b, 23		C		26	
Enclud	(310, 23	,				
TOTAL (19.1	overs)				112	
	0	М	R	W		
Dixon	4	0	22	1	1- 28	(Croft)
Clarke	4		19	2	2- 37	(O'Donnell)
Cartwright	2		12	1	3- 49	(Jenkins)
Shackleton Carroll	2.1		10 18	2	4- 71 5- 73	(Townsend) (Donald)
Flynn	4		28	4	6- 73	(Chesterfield)
_					7- 92	(Lynch)
(Dixon 3w, Ca Shackleton 5 Flynn 13w)	_		,		8- 92 9-107 10-112	(Moscript)
Queensland		1st	Inr	nings		M B 4 6
+A Weeks	st Parke	r	b	Moscript	0	M B 4 6 2 0 0
CA Musk		_		Moscript	0	6 0 0
A Spina	run			out	39	61 0 0
HJ Clarke	c Parker		b	Gallagher	3	5 0 0
A Paton			b	Moscript	0	3 0 0
M Dixon	c Croft		b	Moscript	6	5 1 0
E Flynn			b	Moscript	0	2 0 0
*S Baldwin		lbw	b	Croft	3	5 0 0
CA Cooper			b	Gallagher	26	26 0 0
J Carroll	not			out	3	4 0 0
L Shackleton	not		_	out	1	2 0 0
AJ Cartwright Extras	did no (12w, 1n		L		13	
EXCLAS	(12W, 111	D)				
TOTAL (20 o	vers)			9 wkts	94	
	0	М	R	W		
Moscript	4	0	18	5	1- 3	(Musk)
Gallagher	4	0	14	2	2- 10	(Weeks)
Townsend	2	0	8	0	3- 10	(Clarke)
Croft	4		13	1	4- 10	(Paton)
O'Donnell	4		27	0	5- 19	, ,
Neale	1	0	9	0		(Flynn)
Donald	1	0	5	0	7- 33	,
/24		2			8- 79	
(Moscript 3w, Croft 1w, O' Neale 3w)			b,		9- 93	(Cooper)

EAST ASIA PACIFIC v WESTERN AUSTRALIA

Played at University No.2 Oval, Keiraville on January 9, 2017. (Twenty20 match)

Toss: Western Australia. Result: EAST ASIA-PACIFIC WON BY EIGHT WICKETS.

Umpires: P Ferguson & M Gawde. Scorers: M Head (EAP) & Z Muhammed (WA).

Points: East Asia Pacific 4; Western Australia 0.

ACCC Debuts: nil. Innings Details: none.

Pepper 2w)

Western Austr	r alia 1st Inn	ings		
MJ Saunders +CA Wain HR Biddulph *ME Thompson SJ Prickett K Van Spall K Pepper C Winchcombe JM Roberts GP Middleton BL Crook L Mainwaring Extras	b lbw b b lbw b run out (Ovas run out (Ovas did not bat (2b, 3w, 1nb)	out Oa Oa Siaka Ovasuru Siaka Ovasuru Ovasuru uru)	0 39 0 9 1 4 1 1 0 2 5 - 6 68	M B 4 6 1 0 0 39 4 0 3 0 0 15 1 0 3 0 0 12 1 0 2 0 0 5 0 0 1 0 0 6 0 0 8 1 0
Oa Oala Siaka Ovasuru Yanagida (Oala 2w, Yan	O M R 4 0 13 2.4 0 14 3 1 10 4 1 14 2 0 15 agida 1w 1nb)	W 2 0 2 3 0 0	4- 24 5- 35 6- 36 7- 41	(Saunders) (Biddulph) (Thompson) (Prickett) (Van Spall) (Pepper) (Winchcombe) (Roberts) (Middleton) (Crook)
East Asia Pac	e ific 1st Inn	ings		
S Jimmy T Ruma *P Siaka N Ovasuru M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras	b not not did not bat (11b, 16w, 1nb)	Pepper Middleton out out	27 0 19 6 - - - - 1 18	M B 4 6 29 2 1 1 0 0 34 2 0 3 1 0
Biddulph Middleton Pepper Van Spall Saunders (Biddulph 11w	overs) O M R 3 0 22 3.2 0 23 2 0 13 2 0 5 1 0 6	2 wkts W	1- 8	(Ruma) (Jimmy)

NORTHERN TERRITORY v VICTORIA

Played at Judy Masters Park, Balgownie on January 9, 2017. (Twenty20 match)

Toss: Victoria.

Result: VICTORIA WON BY 76 RUNS.

Umpires: J Walker & D Young. Scorers: M Pemberton (NT) & B Godwin (Vic).

Points: Northern Territory 0; Victoria 4.

ACCC Debuts: nil. Innings Details: none.

Victoria	1st	Innings		W D	4
L Croft R O'Donnell C Moscript S Townsend P Jenkins +T Parker E Lynch H Irvine *E Gallagher E Donald B Chesterfiel C Neale Extras	c Stray c Shearer c Hartung not not did not be (1lb, 7w)	at at at	=	M B 13 12 4 1 53 40 30 25 18 11 22 17 18 15	4 6 1 0 0 0 4 0 1 0 0 0 0 0 2 0
TOTAL (20 ov	rers)	5 v	vkts 126		
Muller Gray Hartung Monet Hunter Stray Kaukura (Muller 1w, G	=	R W 19 2 22 0 23 2 16 0 30 1 15 0	1- 2- 1 3- 6 4- 8 5- 9	8 (Croft 4 (Towns 7 (Mosc	end) cipt)
Hartung 1w, Stray 1w, Ka Northern Terr		2w, Innings			
J Page *+B Stray L Muller JH Munro C Gray M Kaukura R Hartung S Roberts E Shearer	c Gallagher st Parker c Gallagher run out ((c Neale st Parker r not did not be (3b, 8w, 1nd	b O'Donne b Moscrip b O'Donne b Neale b Neale croft) b Moscrip b Donald b Moscrip out at	ot 5 ell 8 5 2 2 0 ot 0 9	M B 14 8 9 12 18 16 24 18 6 6 14 17 3 1 11 7 21 19 1 2 18 13	4 6 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Moscript O'Donnell Croft Neale Donald Gallagher (Moscript lw, Croft 3w lnb Donald 2w)		R W 13 3 7 2 10 0 2 3 11 1 4 0	3- 2 4- 2 5- 2 6- 2 7- 3	8 (Page) 5 (Mulle 9 (Gray) 9 (Munro 9 (Hartu 2 (Kauku 2 (Rober 2 (Hunte	er) o) ung) ura) rts)

QUEENSLAND v SOUTH AUSTRALIA

M B 4 6

41 39 31 6 1

Played at University No.1 Oval, Keiraville on January , 2017. (Twenty20 match)

Toss: Queensland. Result: QUEENSLAND WON BY 62 RUNS.

Umpires: G Glazebrook & S Saye. Scorers: L Maloney (Qld) & D Billet (SA).

1st Innings

run out (Faint)

Points: Queensland 4; South Australia 0.

ACCC Debuts: nil. Innings Details: none.

Queensland

*S Baldwin

:	ran oac	, (141			-	-	0	_
A Paton			Galbraith	0	5	2	0	0
E Flynn	c Perry	b	K A'strong	16	28	24	1	0
M Dixon	c Faint	b	Fiebig	25	20	21	3	1
CA Cooper	st Doecke	e b	Fiebig	25	31	27	2	0
CA Musk	c Perry	b	Fiebig	4	15	8	0	0
HJ Clarke		b	Jameson	9	3	5	1	0
L Shackleton	not		out	0	4	2	0	0
J Carroll	not		out	0	1	0	0	0
AJ Cartwright		hat		_				
+A Weeks	did not			_				
S Morgan	did not			_				
-				8				
Extras	(2b, 21b,	4W)						
TOTAL (20 ove	ers)		7 wkts	128				
	0	M R	W					
Tansell	2	0 14	0	1- 9	9 (P	aton)	
Galbraith	1	0 11	1	2- 58	3 (F	lynn)	
K Armstrong	4	0 22	1	3- 65		_		
Jameson	4	0 25	1	4- 93				
Cummings	2	0 6	0	5-118				
_								
Faint	3		0	6-118		-		
Fiebig	4	0 25	3	7-128	3 (C.	lark	e)	
(Galbraith 2w Cummings 1w) South Austral:		.st In						
					M	В	4	6
BA Perry		lbw b	Shackleton	19	27	20	2	0
K Armstrong	c Morgan	b	Dixon	6		5	1	0
C Fiebig		lbw b	Clarke	2	6	6	0	0
*+J Doecke	c Baldwir	n b	Dixon	12	10	14	1	0
E Faint			Shackleton	5	7	6	1	0
CA Galbraith	c Baldwir		Shackleton		9	6	0	0
FL Mansell				0	4	4	0	0
S Jameson	c cooper			1	12	10	0	0
		c & b						
S Tansell		(вато	dwin-Morgan		21	14	1	0
JL Howie	not	_	out	2	11	9	0	0
R Cummings			Musk	0	1	1	0	0
H Armstrong	did not			-				
Extras	(21b, 7w,	1nb)		10				
TOTAL (15.4	overs)			66				
	0	M R	W					
Dixon	4	0 26	2	1-	7 (K	Arm	str	ong)
Clarke	4	0 19	1	2- 17		iebi		5/
Shackleton	4	0 15	3	3- 34		oeck	٠,	
Musk	3.4	0 13	3	4- 45	•	aint		
riuon	3.4	0 4	J		•			
(D) 1:	1. 1			5- 46		erry		
(Dixon 1w, Sha	ackieton (o₩,		6- 47	•	anse	,	
Musk 1nb)				7- 47	•	albr		h)
				8- 54				
				9- 66	•		,	
				10- 66	5 (C	ummi	ngs)

EAST ASIA PACIFIC v QUEENSLAND

Played at University No.2 Oval, Keiraville on January 10, 2017. (Twenty20 match)

Toss: East Asia Pacific. Result: EAST ASIA-PACIFIC WON BY EIGHT WICKETS.

Umpires: P Ferguson & J Walker. Scorers: M Head (EAP) & L Maloney (Qld).

Points: East Asia Pacific 4; Queensland 0.

ACCC Debuts: nil. Innings Details: none.

Queensland		1st In	nnings		
					м в 4 6
*S Baldwin		1	Oa	4	5 1 0
CA Cooper		lbw b	Jimmy	29	29 3 0
CA Musk	c Solman	. }	Oa	6	17 0 0
+S Morgan		}	Frank	8	19 0 0
A Spina		lbw }	Ovasuru	3	6 0 0
J Carroll	c Ruma	}	Frank	0	5 0 0
A Paton	run ou	ıt (Jol	nn)	1	5 0 0
E Flynn		lbw 1	Jimmy	1	6 0 0
HJ Clarke	not		out	16	15 1 0
M Dixon	run ou	ıt (Jol	nn)	7	8 1 0
L Shackleton	not		out	1	5 0 0
AJ Cartwright	did no	t bat		-	
Extras	(1b, 1lb), 3w)		5	
TOTAL (20 ov	ers)		9 wkts	81	
	0	M I	R W		
Oa	4	0 1		1- 4	(Baldwin)
Oala	4	0 1			(Musk)
Ovasuru	4	0 1			(Morgan)
Siaka	1	0 10		4- 41	
Frank	4	0 12		5- 42	, _ ,
Jimmy	3	0 1		6- 45	
0 111111 <i>1</i>	Ü	0 1			(Flynn)
(Oa 1w, Frank	2w)			8- 58	
				9- 75	(Dixon)
East Baile Dea	:e:_	1 a.t. T.			
East Asia Pac	ific	1st In	nnings		M B 4 6
	ific		-		M B 4 6
S Jimmy		c & 1	Dixon	3	17 0 0
S Jimmy T Ruma	ific c Cooper not	c & l	Dixon Shackleton	3	
S Jimmy T Ruma N Ovasuru	c Cooper	c & 1	Dixon Shackleton out	3 15	17 0 0 21 0 0
S Jimmy T Ruma N Ovasuru *P Siaka	c Cooper not not	C & 1	Dixon Shackleton	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru	c Cooper	c & l	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida	c Cooper not not did no	c & l	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala	c Cooper not not did no	c & } c & } t bat t bat t bat	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman	c Cooper not not did no did no	c & } c & } c t bat c bat c bat c bat c bat	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka	c Cooper not not did no did no did no did no	c & } c t late but bat but bat but bat but bat but bat but bat	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank	c Cooper not not did no did no did no did no did no	c & } c t late but bat	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa	c Cooper not not did no did no did no did no did no did no	c & } c t late but bat	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John	c Cooper not not did no	c & l c l det bat bet bat	Dixon Shackleton out	3 15 41	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras	c Cooper not not did no (21b, 4w	c & l c l det bat bet bat	Dixon Shackleton out out	3 15 41 17 - - - - - - - - 6	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras	c Cooper not not did no	c & l c l det bat bet bat	Dixon Shackleton out	3 15 41 17 - - - - - - - - 6	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras	c Cooper not not did no cooper not	c & } t bat bt bat ct bat ct bat	Dixon Shackleton out out	3 15 41 17 - - - - - - - - 6	17 0 0 21 0 0 41 3 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (18.2	c Cooper not not did no cooper not	c & } c bat bat bat bat bat bat bat bat bat bat bat c bat bat bat mathematical bat mathemati	Dixon Shackleton out out 2 wkts	3 15 41 17 - - - - - 6 82	17 0 0 21 0 0 41 3 0 31 1 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (18.2	c Cooper not not did no (21b, 4w overs)	c & } c bat bat bat bat bat bat bat bat bat bat bat c bat material material M I O 1:	Dixon Shackleton out out 2 wkts	3 15 41 17 - - - - 6 82	17 0 0 21 0 0 41 3 0 31 1 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (18.2	c Cooper not not did no (21b, 4w overs)	c & } c bat bat bat bat bat bat bat bat bat bat bat bat c bat mathematical m	Dixon Di	3 15 41 17 - - - - - 6 82	17 0 0 21 0 0 41 3 0 31 1 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (18.2 Dixon Clarke Shackleton	c Cooper not not did no (21b, 4w overs)	c & } c bat bat bat bat bat bat bat bat bat bat c bat bat bat c	Dixon O Dixon O Shackleton Out	3 15 41 17 - - - - 6 82	17 0 0 21 0 0 41 3 0 31 1 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (18.2 Dixon Clarke Shackleton Musk	c Cooper not not did no (21b, 4w overs)	c & } c bat bat bat bat bat bat bat bat bat bat c b	Dixon O Dixon O Shackleton Out	3 15 41 17 - - - - 6 82	17 0 0 21 0 0 41 3 0 31 1 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (18.2 Dixon Clarke Shackleton	c Cooper not not did no (21b, 4w overs)	c & } c bat bat bat bat bat bat bat bat bat bat c bat bat bat c	Dixon O Dixon O Shackleton Out	3 15 41 17 - - - - 6 82	17 0 0 21 0 0 41 3 0 31 1 0
S Jimmy T Ruma N Ovasuru *P Siaka M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (18.2 Dixon Clarke Shackleton Musk Flynn	c Cooper not not did no (21b, 4w overs)	c & } c bat bat bat bat bat bat bat bat bat bat c b	Dixon O Dixon O Shackleton Out	3 15 41 17 - - - - 6 82	17 0 0 21 0 0 41 3 0 31 1 0

(Clarke 1w, Shackleton 2w, Musk 1w)

NEW SOUTH WALES v WESTERN AUSTRALIA

Played at Judy Masters Park, Balgownie on January 10, 2017. (Twenty20 match)

Toss: Western Australia. Result: NEW SOUTH WALES WON BY EIGHT WICKETS.

Umpires: J Burgoyne & D Young. Scorers: A Brockley (NSW) & Z Muhammed (WA).

Points: New South Wales 4; Western Australia 0.

ACCC Debuts: nil. Innings Details: none.

Western Austr	alia	1st	Inr	nings					
						M	В	4	6
+CA Wain	c Avard		b	Beaumont	17		24	0	0
MJ Saunders	c Griff	ith	b	Riddell	12		22	1	0
S Williams	no	t		out	47		49	3	0
HR Biddulph	c Lugg		b	Griffith	8		21	0	0
*ME Thompson			b	Griffith	7		13	0	0
K Van Spall	no	t		out	1		1	0	0
SJ Prickett	did n	ot ba	ıt		-				
JM Roberts	did n	ot ba	ιt		-				
L Mainwaring	did n	ot ba	ιt		-				
GP Middleton	did n	ot ba	ιt		-				
K Pepper	did n	ot ba	ιt		-				
C Winchcombe	did n	ot ba	ıt		-				
Extras	(2b, 21	b, 2w	7)		6				
TOTAL (20 ov	ers)			4 wkt	s 98				
	0	М	R	W					
Manns	2	0	10	0	1- 22	(S	aund	ers)
Riddell	3	1	8	1	2- 47	(W	ain)		
Kavanagh	3	0	14	0	3- 69	(B	iddu	lph)
Beaumont	4	0	18	1	4- 91	(T	homp	son)
Avard	3	0	14	0					
Jackson	2	0	15	0					
Griffith	3	0	15	2					
(Kavanagh 1w,	Beaumon	t 1w)							
New South Wal	es	1st	Inr	nings			Б.	4	_

New South Wal	es	1st	Inn	ings						
							Μ	В	4	6
R Cady	not			0	ut	41		41	3	0
+M Lugg	run ou	t (V	√inc	hcom	be)	12		31	0	0
GA McDonald	c Middle	ton	b	Van	Spall	16		18	1	0
R Van-Veen	not			0	ut	9		4	1	0
*L Griffith	did no	t ba	at			-				
L Avard	did no	t ba	at			-				
K Beaumont	did no	t ba	at			-				
K Jackson	did no	t ba	at			-				
TE Kavanagh	did no	t ba	at			-				
S Manns	did no	t ba	at			-				
A Riddell	did no	t ba	at			-				
MS Norup	did no	t ba	at			-				
Extras	(1b, 1lb	, 15	w,	4nb)		21				
TOTAL (15 o	vers)				2 wkts	99				
	0	М	R	W						
Roberts	3	0	11	0		1- 47	(I	uqq)		
Middleton	1	0	16	0		2- 89		icDon	ald)
Van Spall	3	0	20	1						
Saunders	2	0	11	0						
Biddulph	2	0	20	0						
Thompson	2	0	9	0						
Williams	2	0	10	0						

(Roberts 2w, Middleton 2nb, Van Spall 5w, Biddulph 5w 2nb, Thompson 1w, Williams 2w)

SOUTH AUSTRALIA v VICTORIA

Played at Ziems Park, Corrimal on January 10, 2017. (Twenty20 match)

Toss: South Australia. Result: SOUTH AUSTRALIA WON BY 4 RUNS.

Umpires: N Findlay & M Gawde. Scorers: D Billet (SA) & B Godwin (Vic).

Points: South Australia 4; Victoria 0.

(Tansell 4w 1nb, Galbraith 1w)

ACCC Debuts: nil. Innings Details: none.

South Austral	ia 1s	t In	nings		
					M B 4 6
BA Perry	c Neale		Gallagher	3	4 0 0
H Armstrong			Croft	4	18 0 0
C Fiebig			Croft	9	30 0 0
*+J Doecke	c Neale		Townsend	5 12	5 1 0 17 0 0
K Armstrong E Faint	run out c Parker	_	cn) Gallagher	12	17 0 0 19 1 0
CA Galbraith	c Moscript		Gallagher	19	20 2 0
FL Mansell	run	D	out	4	7 0 0
S Jameson	not		out	0	0 0 0
S Tansell	not		out	2	1 0 0
JL Howie	did not	bat		_	
BL Tonkin	did not	bat		_	
Extras	(12w, 1nb)			13	
TOTAL (20 ov	ers)		8 wkts	83	
	O M	R	W		
Moscript	4 0	9	0	1- 5	(Perry)
Gallagher	4 1	12	3	2- 14	(Armstrong)
Townsend	3 0	16	1	3- 19	(Doecke)
Croft	4 0	13	2	4- 35	(Fiebig)
Neale	1 0	7	0	5- 49	(K Armstrong)
O'Donnell	1 0	5	0	6- 66	(Faint)
Donald	3 0	21	0	7- 81	(Galbraith)
Croft 3w, Ne O'Donnell 1w Victoria	, Donald 1w) nings		
V1000114	10	0 1111	.111190		м в 4 6
L Croft		b	Jameson	4	15 0 0
R O'Donnell	С	& b	Galbraith	17	23 1 0
C Moscript	С	& b	Galbraith	5	10 0 0
E Donald		b	Galbraith	2	10 0 0
S Townsend	c Faint	b	Fiebig	17	29 0 0
E Lynch	1	d wd	Tansell	19	23 1 0
P Jenkins	not		out	2	4 0 0
*E Gallagher	st Doecke		Galbraith	4	5 0 0
+T Parker		b	Galbraith	0	2 0 0
C Neale	not	1	out	0	0 0 0
H Irvine B Chesterfiel	did not			_	
Extras	(1b, 21b,		lnb)	9	
TOTAL (20 o	vers)		8 wkts	 79	
	О М	R	W		
Tansell	4 0		w 1	1- 22	(Croft)
Jameson	4 0		1	2- 27	
Galbraith	4 0		5	3- 31	,
K Armstrong	4 0		0	4- 36	•
Fiebig	4 0		1	5- 71	
- +0~+9	1 0		-	6- 71	(2 - /

7- 77 (Gallagher)

8- 79 (Parker)

EAST ASIA PACIFIC v SOUTH AUSTRALIA

Played at North Dalton Park, Towradgi on January 10, 2017. (Twenty20 match) (Day/Night)

Toss: South Australia.

Result: EAST ASIA-PACIFIC WON BY FIVE WICKETS.

Umpires: L Walker & D Young. Scorers: M Head (EAP) & D Billet (SA).

ACCC Debuts: nil. Innings Details: none.

Fiebig 1nb)

C	1		
South Austral	.ia 1st In:	nings	M D 4 C
	- D	0 -	M B 4 6
H Armstrong		Oa	0 1 2 0 0
BA Perry		Ovasuru	41 71 50 4 0
C Fiebig		Ovasuru	21 30 27 3 0
*+J Doecke		Ovasuru	27 42 31 1 0
K Armstrong	not	out	11 6 7 1 0
E Faint	not	out	2 4 3 0 0
S Jameson	did not bat		-
R Cummings	did not bat		-
CA Galbraith	did not bat		-
FL Mansell	did not bat		_
JL Howie	did not bat		_
S Tansell	did not bat		_
Extras	(2b, 7w)		9
TOTAL (20 ov	rers)	4 wkts	111
	O M R	W	
Oa	4 1 13	1	1- 1 (H Armstrong)
Oala	4 0 22	0	2- 38 (Fiebig)
Ovasuru	4 0 16	3	3- 98 (Perry)
Siaka	2 0 19	0	4- 99 (Doecke)
Jimmy	4 0 18	0	1 33 (2000.10)
Frank	2 0 21	0	
(Oa 1w, Oala Siaka 2w, Fr East Asia Pac		nings	
		3	м в 4 6
S Jimmy	b	Tansell	0 11 10 0 0
T Ruma	c Jameson b	Tansell	7 21 11 0 0
*P Siaka	c Mansell b	Galbraith	14 18 16 1 0
N Ovasuru	not	out	38 65 38 3 0
S Solman	lbw b	K A'strong	10 7 8 2 0
K Oala	c Perry b	Jameson	31 37 30 4 0
+H Buruka	not	out	5 12 7 0 0
M Yanagida	did not bat		_
V Frank	did not bat		_
R Oa	did not bat		_
K John	did not bat		_
E Kobayashi	did not bat		_
Extras	(2b, 3w, 2nb)		7
	, , , , , , , , , , , , , , , , , , , ,		
TOTAL (19.5	overs)	5 wkts	112
	O M R		
Tansell	4 0 14	2	1- 7 (Jimmy)
Jameson	3.5 0 17	1	2- 20 (Ruma)
Galbraith	4 0 23	1	3- 30 (Siaka)
K Armstrong	3 0 22	1	4- 41 (Solman)
Faint	2 0 15	0	5- 98 (Oala)
Fiebig	3 0 19	0	

NEW SOUTH WALES v VICTORIA

Played at University No.1 Oval, Keiraville on January 10, 2017. (Twenty20 match) (Day/Night)
Toss: Victoria.

Result: VICTORIA WON BY 1 RUN.

Umpires: D Dobinson & C Morris. Scorers: A Brockley (NSW) & B Godwin (Vic).

ACCC Debuts: nil. Innings Details: none.

innings Details: r	none.								
Victoria		1st	Ini	nings					
						Μ	В	4	6
L Croft			b	Norup	13		13	2	0
R O'Donnell		С	& b	Norup	1		7	0	0
C Moscript		С	& b	Norup	15		12	3	0
S Townsend			b	Norup	62		49	5	2
+E Lynch	run	out (Kava	anagh)	11		13	1	0
T Parker	n	ot		out	21		24	2	0
E Donald	n	ot		out	5		3	1	0
H Irvine	did	not b	at		-				
*E Gallagher	did	not b	at		-				
B Chesterfield	did	not b	at		-				
C Neale	did	not b	at		-				
P Jenkins	did	not b	at		-				
Extras (2b, 4	w, 1n	b)		7				
TOTAL (20 over	s)			5 wkts	135				
	0	М	R	W					
Griffith	4	0	33	0	1- 2	(0	' Don	nel	1)
Norup	4	0	27	4	2- 19	(C	roft)	
Beaumont	2	0	10	0	3- 32	(M	loscr	ipt	.)
Kavanagh	4	0	28	0	4- 48	(L	ynch	.)	
Riddell	3	0	14	0	5-129	(T	owns	end)
Jackson	2	0	12	0					
Manns	1	0	9	0					
(Griffith 1nb,	Ridde	ll 1w	,						
Jackson 1w, Ma	nns 2	w)							
New South Wales		1st	Ini	nings					
				-		Μ	В	4	6
A Edgar s	t Lyn	ch	b	Moscript	10		12	1	0

New South Wal	es 1st	: In:	nings					
					M	В	4	6
A Edgar	st Lynch	b	Moscript	10	1	2	1	0
+R Cady	c O'Donnell	b	Gallagher	10	1	.3	1	1
GA McDonald	c C'field	b	Moscript	0		2	0	0
*L Griffith	c Neale	b	Donald	55	4	9	7	0
M Lugg	run		out	14	2	2	0	0
R Van-Veen	c Lynch	b	Croft	0		1	0	0
A Riddell	c Jenkins	b	Gallagher	21	1	7	1	1
K Jackson	not		out	0		3	0	0
MS Norup	not		out	6		2	1	0
TE Kavanagh	did not k	at		-				
K Beaumont	did not k	at		-				
S Manns	did not k	at		-				
Extras	(21b, 15w,	1nb)	18				
TOTAL (20 o	vers)		7 wkts	134				
	O M	R	M					
Moscript	4 0	15	2	1- 17	(Cad	ly)		
Gallagher	4 0	34	2	2- 21	(McD	on	ald)
O'Donnell	2 0	20	0	3- 23	(Edg	ar)	
Croft	4 0	20	1	4- 76	(Lug	g)		
Donald	4 0	28	1	5- 77	(Van	-V	een)
Neale	2 0	15	0	6-119	(Gri	ff	ith)
				7-127	(Rid	lde	11)	

(Moscript 2w, O'Donnell 10w, Donald 3w 1nb)

NORTHERN TERRITORY v QUEENSLAND

Played at University No.2 Oval, Keiraville on January 11, 2017. (Twenty20 match)

Toss: Northern Territory. Result: QUEENSLAND WON BY EIGHT WICKETS.

Umpires: D Dobinson & P Ferguson. Scorers: M Pemberton (NT) & L Maloney (Qld).

ACCC Debuts: nil. Innings Details: none.

Northern Territory 1st Innings										
							М	В	4	6
J Page			b	Dix	on	30	18	17	5	1
*+B Stray c	Spina		b	Cla	rke	1	6	3	0	0
L Muller c	Baldwin	ì	b	Dix	on	14	25	21	2	0
JH Munro	run out	[]	Balo	dwin))	19	33	24	3	0
A Cloughessy	not				out	2	16	9	0	0
R Hartung			b	J Ca	arroll	1	3	3	0	0
Matisse Hunter	not				out	0	0	0	0	0
R Tomlins	did not	ba	at			-				
M Kaukura	did not	ba	at			-				
C Gray	did not	ba	at			-				
S Roberts	did not	ba	at			-				
L Taylor	did not	ba	at			-				
Extras (3b, 12,	1nl	b)			16				
TOTAL (18 over	s)				5 wkt	s 109				
	0	М	R	W						
Clarke	3	0	28	1		1_	11/	Stray	- \	
Cartwright	2	0	20	0		2-		Bage)		
Dixon	4	0	18	2			,	rage) Mulle		
Shackleton	4	1		0				Munro		
	1	0	11	0			,		,	
Flynn Carroll 4 0 11	=	U	ТТ	U		2-1	UJ (.	Hartu	шу)	
Calloll 4 U II	13-									
(Cartwright 1w	1nb. Di	kon	6w.							

(Cartwright 1w 1nb, Dixon 6w, Flynn 1w, Carroll 3w)

Queensland	1st	Innings						
					М	В	4	6
*S Baldwin	lbw	b Mulle	er	16	17	21	2	0
CA Cooper	lbw	b Tomli	lns	26	25	28	3	0
CA Musk	not	οι	ıt	24		28	0	0
M Dixon	not	οι	ıt	29	2	17	1	0
HJ Clarke	did not ba	t		-				
J Carroll	did not ba	t		-				
L Shackleton	did not ba	t		-				
E Flynn	did not ba	t		-				
A Spina	did not ba	t		-				
AJ Cartwright	did not ba	t		-				
S Morgan	did not ba	t		-				
Extras	(2b, 2lb, 10	w, 1nb)		15				
TOTAL (15.4	overs)	2	2 wkts	110				
	O M	R W						
Muller	4 0	14 1		1- 2	4 (E	Baldw	in)	
Gray	2 0	14 0		2- 6	5 (0	Coope	r)	
Kaukura	3 0	28 0						
Hartung	4 0	30 0						
Tomlins	2 0	12 1						
Stray	0.4 0	8 0						

(Muller 1w, Gray 1w, Kaukura 1w 1nb, Hartung 4w, Tomlins 3w)

NEW SOUTH WALES v SOUTH AUSTRALIA

Played at University No.1 Oval, Keiraville on January 11, 2017. (Twenty20 match)

Toss: South Australia. Result: NEW SOUTH WALES WON BY FIVE WICKETS.

Umpires: J Burgoyne & J Walker. Scorers: A Brockley (NSW) & D Billet (SA).

ACCC Debuts: nil. Innings Details: none.

minings betails. Hollo.											
South Austral	South Australia 1st Innings										
	M B 4 6										
K Armstrong	c Cady	b	Riddell	9 19 13 0 1							
H Armstrong	not	,	out	23 29 18 3 0							
BA Perry			Edgar	21 31 29 2 0							
C Fiebig	c Jackson		Avard	23 31 32 2 0							
*+J Doecke E Faint	c Norup		Griffith Jackson	8 12 11 0 1 7 11 10 1 0							
CA Galbraith	run out		y-Jackson)	10 10 7 1 0							
R Cummings	not.	, (caa	out	0 0 0 0 0							
S Jameson	did not	bat		=							
FL Mansell	did not			_							
BL Tonkin	did not	bat		-							
S Tansell	did not	bat		_							
Extras	(8b, 5w)			13							
	,										
TOTAL (20 ov	ers)		6 wkts	114							
	0	M R	M								
Riddell	4	0 11	1	1- 31 (K Armstrong)							
Norup	3	0 27	0	2- 55 (Perry)							
Edgar	4	0 14	1	3- 73 (Fiebig)							
Griffith	4	0 21	1	4- 74 (Doecke)							
Kavanagh	1	0 10	0	5- 92 (Faint)							
Avard Jackson	2 2	0 8 0 15	1 1	6-114 (Galbraith)							
(Norup 1w, Ed Kavanagh 1w)	gar 3w,										
New South Wal	es 1	st In	nings	м в 4 6							
A Edgar	c Galbrai	th b	Cummings	25 34 30 2 1							
R Cady		lbw b	Tansell	1 5 4 0 0							
GA McDonald		lbw b	Faint	7 12 12 0 0							
*L Griffith	not		out	33 51 41 1 0							
+M Lugg	run		out	14 16 11 1 0							
A Riddell	c Mansell	. b	Fiebig	9 9 14 0 0							
K Rowlings	not	1	out	6 9 6 1 0							
K Jackson TE Kavanagh	did not did not			-							
K Beaumont	did not			_							
MS Norup	did not			_							
L Avard	did not			_							
Extras	(1b, 21w,			23							
TOTAL (19.3	overs)		5 wkts	118							
	0	M R	W								
Tansell	1	0 14		1- 14 (Cady)							
Jameson	3.3	0 17	0	2- 27 (McDonald)							
Faint	3	0 17	1	3- 61 (Edgar)							
Galbraith	2	0 16	0	4- 90 (Lugg)							
Cummings	2	0 13	1	5-104 (Riddell)							
Tonkin	2	0 9	0								
K Armstrong	3	0 19									
Fiebig	3	0 12	1								
(Tansell 10w	1nb, James	on 1w	,								
- ' · ^ ~	lbraith 3w	,									

Cummings 1w, K Armstrong 4w)

EAST ASIA PACIFIC V VICTORIA

Played at University No.1 Oval, Keiraville on January , 2017. (Twenty20 match)

Toss: East Asia Pacific. Result: EAST ASIA-PACIFIC WON BY EIGHT WICKETS.

Umpires: N Findlay & D Went. Scorers: M Head (EAP) & B Godwin (Vic).

ACCC Debuts:

O'Donnell 1w)

Innings Details: none.

Victoria	1st	: Inn	ings		м в 4	6
L Croft R O'Donnell C Moscript S Townsend +E Lynch T Parker E Donald P Jenkins B Chesterfiel *E Gallagher H Irvine JK Goodger-Ch Extras TOTAL (20 ov	c Ovasuru c Buruka run run out d not not did not k andler did r (41b, 4w, 3	b b b (Ruma	Oala Frank Jimmy Siaka out out out	6 0 1 45 6 21 0 5 3 0 - - 11 98	11 1 5 0 4 0 34 4 15 0 40 1 1 0 8 0 3 0 0 0	0 0 0 1 0 0 0 0 0
Oa Oala Ovasuru Jimmy Frank Siaka (Oa 2w, Oala Frank 1w)	O M 4 0 3.1 0 4 0 4 0 3 0 1 0	R 15 28 21 11 16 3	W 2 1 0 1 1 1 1 1	1- 10 2- 12 3- 27 4- 31 5- 68 6- 83 7- 91 8- 98	(Croft) (Moscript (Lynch) (O'Donnel (Donald) (Townsend (Jenkins) (Parker)	.1) l)
East Asia Pac	z ific 1st	Inn	ings			
S Jimmy T Ruma *P Siaka N Ovasuru M Yanagida K Oala S Solman +H Buruka V Frank R Oa K John E Kobayashi Extras TOTAL (17 o	, , ,	b pat pat pat pat pat	Moscript Gallagher out out	0 41 42 - - - - - - 16 	M B 4 3 0 3 0 51 5 45 3	6 0 0 1 1
Moscript Gallagher Donald Croft Neale O'Donnell Townsend (Croft lw, Ne	O M 4 1 2 0 3 0 4 0 1 0 2 0 1 0	R 13 15 14 25 10 12 4	W 1 1 0 0 0 0 0 0 0 0 0 0	1- 0 2- 2	(Jimmy) (Ruma)	

2016-17 ACCC Overall Statistics

Leading Run Scorers

Player	Team	М	ı	NO	HS	Runs	Avge	100	50
BA Perry	South Australia	8	8	3	62*	290	58.00	-	2
S Townsend	Victoria	8	8	1	62	234	33.43	-	1
L Griffith	New South Wales	8	7	4	55	215	71.67	-	1
N Ovasuru	East Asia Pacific	8	7	6	42*	182	182.00	-	-
J Page	Northern Territory	7	7	1	65*	181	30.17	-	1
R Cady	New South Wales	8	8	1	42	177	25.29	-	-
A Edgar	New South Wales	7	7	-	33	143	20.43	-	-
P Siaka	East Asia Pacific	8	8	4	41*	142	35.50	-	-
H Armstrong	South Australia	8	7	1	37	139	23.17	-	-
C Fiebig	South Australia	8	7	2	24*	113	22.60	-	-
CA Cooper	Queensland	7	5	-	29	107	21.40	-	-
A Weeks	Queensland	5	4	1	63*	103	34.33	-	1
S Williams	Western Australia	5	5	3	47*	102	51.00	-	-
J Doecke	South Australia	8	8	1	27	99	14.14	-	-
CA Wain	Western Australia	6	6	1	39*	99	19.80	-	-
C Moscript	Victoria	8	8	-	45	90	11.25	-	-
B Stray	Northern Territory	7	7	-	27	90	12.86	-	-
T Parker	Victoria	8	7	2	21*	86	17.20	-	-
S Baldwin	Queensland	7	6	-	41	85	14.17	-	-
E Lynch	Victoria	8	8	3	23*	84	16.80	-	-
CA Musk	Queensland	6	6	3	39*	82	27.33	-	-
K Oala	East Asia Pacific	8	4	-	31	82	20.50	-	-
M Dixon	Queensland	7	5	1	29*	81	20.25	-	-
R O'Donnell	Victoria	8	8	-	35	73	9.12	-	-
L Croft	Victoria	8	7	1	15*	72	12.00	-	-
GA McDonald	New South Wales	7	7	1	32	72	12.00	-	-
M Lugg	New South Wales	7	6	1	30	72	14.40	-	-
L Muller	Northern Territory	7	7	-	24	69	9.86	-	-
A Paton	Queensland	6	5	-	49	66	13.20	-	-
A Riddell	New South Wales	7	5	2	21	58	19.33	-	-

Highest Individual Innings

	Player	Team/Opponent	Ground
65*	J Page	Northern Territory v New South Wales	Ziems Park, Corrimal
63*	A Weeks	Queensland v New South Wales	North Dalton Park, Towradgi
62*	BA Perry	South Australia v Northern Territory	University No.1 Oval, Keiraville
62*	BA Perry	South Australia v New South Wales	University No.1 Oval, Keiraville
62	S Townsend	Victoria v New South Wales	University No.1 Oval, Keiraville
55	L Griffith	New South Wales v Victoria	University No.1 Oval, Keiraville
49*	L Griffith	New South Wales v Queensland	North Dalton Park, Towradgi
49	A Paton	Queensland v New South Wales	North Dalton Park, Towradgi
47*	S Williams	Western Australia v New South Wales	Judy Masters Park, Balgownie
45*	BA Perry	South Australia v Western Australia	Ziems Park, Corrimal
45	S Townsend	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
45	C Moscript	Victoria v Northern Territory	Judy Masters Park, Balgownie
45	S Townsend	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
44	J Page	Northern Territory v Western Australia	University No.2 Oval, Keiraville
42*	N Ovasuru	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
42	R Cady	New South Wales v Northern Territory	Ziems Park, Corrimal
41*	R Cady	New South Wales v Western Australia	Judy Masters Park, Balgownie
41*	N Ovasuru	East Asia Pacific v Queensland	University No.2 Oval, Keiraville
41*	P Siaka	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
41	R Cady	New South Wales v Victoria	North Dalton Park, Towradgi
41	S Baldwin	Queensland v South Australia	University No.1 Oval, Keiraville
41	BA Perry	South Australia v East Asia Pacific	North Dalton Park, Towradgi
39*	CA Musk	Queensland v Western Australia	University No.1 Oval, Keiraville
39*	CA Wain	Western Australia v East Asia Pacific	University No.2 Oval, Keiraville
39	A Spina	Queensland v Victoria	Judy Masters Park, Balgownie
38*	N Ovasuru	East Asia Pacific v South Australia	North Dalton Park, Towradgi
37	H Armstrong	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
37	BA Perry	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
35*	N Ovasuru	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
35	R O'Donnell	Victoria v Western Australia	Judy Masters Park, Balgownie
35	H Armstrong	South Australia v New South Wales	University No.1 Oval, Keiraville
34*	L Griffith	New South Wales v East Asia Pacific	University No.1 Oval, Keiraville
34	R Cady	New South Wales v South Australia	University No.1 Oval, Keiraville
33*	L Griffith	New South Wales v South Australia	University No.1 Oval, Keiraville
33	A Edgar	New South Wales v Queensland	North Dalton Park, Towradgi
32	J Page	Northern Territory v South Australia	University No.1 Oval, Keiraville
32	GA McDonald	New South Wales v Northern Territory	Ziems Park, Corrimal
31	K Oala	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
31	K Oala	East Asia Pacific v South Australia	North Dalton Park, Towradgi
30	V Frank	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
30	A Edgar	New South Wales v East Asia Pacific	University No.1 Oval, Keiraville
30	M Lugg	New South Wales v South Australia	University No.1 Oval, Keiraville
30	J Page	Northern Territory v Queensland	University No.2 Oval, Keiraville

Leading Batting Averages (minimum 75 runs)

Player	Team	M	ı	NO	HS	Runs	Avge	100	50
N Ovasuru	East Asia Pacific	8	7	6	42*	182	182.00	-	-
L Griffith	New South Wales	8	7	4	55	215	71.67	-	1
BA Perry	South Australia	8	8	3	62*	290	58.00	-	2
S Williams	Western Australia	5	5	3	47*	102	51.00	-	-
P Siaka	East Asia Pacific	8	8	4	41*	142	35.50	-	-
A Weeks	Queensland	5	4	1	63*	103	34.33	-	1
S Townsend	Victoria	8	8	1	62	234	33.43	-	1
J Page	Northern Territory	7	7	1	65*	181	30.17	-	1
CA Musk	Queensland	6	6	3	39*	82	27.33	-	-
R Cady	New South Wales	8	8	1	42	177	25.29	-	-
H Armstrong	South Australia	8	7	1	37	139	23.17	-	-
C Fiebig	South Australia	8	7	2	24*	113	22.60	-	-
CA Cooper	Queensland	7	5	-	29	107	21.40	-	-
K Oala	East Asia Pacific	8	4	-	31	82	20.50	-	-
A Edgar	New South Wales	7	7	-	33	143	20.43	-	-
M Dixon	Queensland	7	5	1	29*	81	20.25	-	-

Most Fours in an Innings

8	BA Perry	South Australia v Northern Territory	University No.1 Oval, Keiraville
8	R Cady	New South Wales v Victoria	North Dalton Park, Towradgi
7	L Griffith	New South Wales v Queensland	North Dalton Park, Towradgi
7	L Griffith	New South Wales v Victoria	University No.1 Oval, Keiraville
•	A Weeks	Queensland v New South Wales	
6	S Townsend		North Dalton Park, Towradgi
6	• . •	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
6	H Armstrong	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
6	V Frank	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
6	S Baldwin	Queensland v South Australia	University No.1 Oval, Keiraville
5	A Edgar	New South Wales v Queensland	North Dalton Park, Towradgi
5	C Fiebig	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
5	A Edgar	New South Wales v East Asia Pacific	University No.1 Oval, Keiraville
5	A Weeks	Queensland v Western Australia	University No.1 Oval, Keiraville
5	R Cady	New South Wales v South Australia	University No.1 Oval, Keiraville
5	J Page	Northern Territory v Western Australia	University No.2 Oval, Keiraville
5	S Townsend	Victoria v New South Wales	University No.1 Oval, Keiraville
5	P Siaka	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
5	J Page	Northern Territory v Queensland	University No.2 Oval, Keiraville
4	A Paton	Queensland v New South Wales	North Dalton Park, Towradgi
4	S Solman	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
4	H Armstrong	South Australia v Northern Territory	University No.1 Oval, Keiraville
4	J Page	Northern Territory v South Australia	University No.1 Oval, Keiraville
4	J Page	Northern Territory v New South Wales	Ziems Park, Corrimal
4	CA Musk	Queensland v Western Australia	University No.1 Oval, Keiraville
4	H Armstrong	South Australia v New South Wales	University No.1 Oval, Keiraville
4	BA Perry	South Australia v New South Wales	University No.1 Oval, Keiraville
4	C Moscript	Victoria v Northern Territory	Judy Masters Park, Balgownie
4	CA Wain	Western Australia v East Asia Pacific	University No.2 Oval, Keiraville
4	BA Perry	South Australia v East Asia Pacific	North Dalton Park, Towradgi
4	K Oala	East Asia Pacific v South Australia	North Dalton Park, Towradgi
4	S Townsend	Victoria v Fast Asia Pacific	University No.1 Oval, Keiraville
-			zamina, mana zami, manarina

Most Boundaries in an Innings

8	BA Perry	South Australia v Northern Territory	University No.1 Oval, Keiraville
8	R Cady	New South Wales v Victoria	North Dalton Park, Towradgi
7	L Griffith	New South Wales v Queensland	North Dalton Park, Towradgi
7	S Baldwin	Queensland v South Australia	University No.1 Oval, Keiraville
7	S Townsend	Victoria v New South Wales	University No.1 Oval, Keiraville
7	L Griffith	New South Wales v Victoria	University No.1 Oval, Keiraville
6	A Weeks	Queensland v New South Wales	North Dalton Park, Towradgi
6	S Townsend	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
6	H Armstrong	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
6	V Frank	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
6	R Cady	New South Wales v South Australia	University No.1 Oval, Keiraville
6	J Page	Northern Territory v Western Australia	University No.2 Oval, Keiraville
6	J Page	Northern Territory v Queensland	University No.2 Oval, Keiraville
5	A Edgar	New South Wales v Queensland	North Dalton Park, Towradgi
5	C Fiebig	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
5	A Edgar	New South Wales v East Asia Pacific	University No.1 Oval, Keiraville
5	A Weeks	Queensland v Western Australia	University No.1 Oval, Keiraville
5	BA Perry	South Australia v New South Wales	University No.1 Oval, Keiraville
5	S Townsend	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
5	P Siaka	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
4	A Paton	Queensland v New South Wales	North Dalton Park, Towradgi
4	S Solman	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
4	H Armstrong	South Australia v Northern Territory	University No.1 Oval, Keiraville
4	J Page	Northern Territory v South Australia	University No.1 Oval, Keiraville
4	J Page	Northern Territory v New South Wales	Ziems Park, Corrimal
4	K Oala	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
4	CA Musk	Queensland v Western Australia	University No.1 Oval, Keiraville
4	H Armstrong	South Australia v New South Wales	University No.1 Oval, Keiraville
4	M Dixon	Queensland v South Australia	University No.1 Oval, Keiraville
4	C Moscript	Victoria v Northern Territory	Judy Masters Park, Balgownie
4	CA Wain	Western Australia v East Asia Pacific	University No.2 Oval, Keiraville
4	BA Perry	South Australia v East Asia Pacific	North Dalton Park, Towradgi
4	K Oala	East Asia Pacific v South Australia	North Dalton Park, Towradgi
4	N Ovasuru	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
			•

Highest Individual Innings by Batting Position

Opener	65*	J Page	Northern Territory v New South Wales	Ziems Park, Corrimal
3	47*	S Williams	Western Australia v New South Wales	Judy Masters Park, Balgownie
4	62	S Townsend	Victoria v New South Wales	University No.1 Oval, Keiraville
5	35*	N Ovasuru	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
6	31	K Oala	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
	31	K Oala	East Asia Pacific v South Australia	North Dalton Park, Towradgi
7	23	S Solman	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
8	14	C Moscript	Victoria v Queensland	Judy Masters Park, Balgownie
9	26	CA Cooper	Queensland v Victoria	Judy Masters Park, Balgownie
10	8	E Gallagher	Victoria v Queensland	Judy Masters Park, Balgownie
11	7*	C Winchcombe	Western Australia v Queensland	University No.1 Oval, Keiraville

Remained 99 Not Out

No Instance

Dismissed for Ninety-Nine

Player Team/Opponent Ground Dism

No Instance

Century on Debut

Player Team/Opponent Ground Score

No Instance

Carrying the Bat

Player Team/Opponent Ground Score Team No Instance

Most Ducks

	Team	M	Inn	DI%	Ducks
JM Roberts	Western Australia	6	5	60.00	3
Monet Hunter	Northern Territory	5	4	50.00	2
GP Middleton	Western Australia	6	4	50.00	2
A Paton	Queensland	6	5	40.00	2
S Jimmy	East Asia Pacific	8	5	40.00	2
A Cloughessy	Northern Territory	5	5	40.00	2
ME Thompson	Western Australia	6	5	40.00	2
HR Biddulph	Western Australia	6	6	33.33	2
T Ruma	East Asia Pacific	8	7	28.57	2
GA McDonald	New South Wales	7	7	28.57	2
T Parker	Victoria	8	7	28.57	2
R O'Donnell	Victoria	8	8	25.00	2

Leading Partnerships by Wicket

1st	106	A Paton & A Weeks	Queensland v New South Wales	North Dalton Park, Towradgi
2nd	55	S Jimmy & P Siaka	East Asia Pacific v Western Australia	University No.2 Oval, Keiraville
3rd	98*	P Siaka & N Ovasuru	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
4th	61	S Townsend & T Parker	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
5th	81	S Townsend & T Parker	Victoria v New South Wales	University No.1 Oval, Keiraville
6th	42	L Griffith & A Riddell	New South Wales v Victoria	University No.1 Oval, Keiraville
7th	35	V Frank & S Solman	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
8th	46	A Spina & CA Cooper	Queensland v Victoria	Judy Masters Park, Balgownie
9th	17	M Dixon & HJ Clarke	Queensland v East Asia Pacific	University No.2 Oval, Keiraville
10th	18	E Shearer & Matisse Hunter	Northern Territory v Victoria	Judy Masters Park, Balgownie

Leading Partnerships by Wicket - East Asia Pacific

1st	53	T Ruma & V Frank	South Australia	University No.1 Oval, Keiraville
2nd	55	S Jimmy & P Siaka	Western Australia	University No.2 Oval, Keiraville
3rd	98*	P Siaka & N Ovasuru	Victoria	University No.1 Oval, Keiraville
4th	23	P Siaka & N Ovasuru	New South Wales	University No.1 Oval, Keiraville
5th	62	K Oala & N Ovasuru	New South Wales	University No.1 Oval, Keiraville
6th	14*	N Ovasuru & H Buruka	South Australia	North Dalton Park, Towradgi
7th	35	V Frank & S Solman	Victoria	University No.1 Oval, Keiraville
8th	0	S Solman & H Buruka	Victoria	University No.1 Oval, Keiraville
9th	0	H Buruka & R Oa	Victoria	University No.1 Oval, Keiraville
10th	14	S Jimmy & R Oa	Victoria	University No.1 Oval, Keiraville

Leading Partnerships by Wicket – New South Wales

1st	47	M Lugg & R Cady	Western Australia	Judy Masters Park, Balgownie
2nd	54	R Cady & GA McDonald	Northern Territory	Ziems Park, Corrimal
3rd	71	R Cady & L Griffith	Victoria	North Dalton Park, Towradgi
4th	53	M Lugg & L Griffith	Victoria	University No.1 Oval, Keiraville
5th	23	K Jackson & L Griffith	East Asia Pacific	University No.1 Oval, Keiraville
6th	42	L Griffith & A Riddell	Victoria	University No.1 Oval, Keiraville
7th	21	M Lugg & GA McDonald	South Australia	University No.1 Oval, Keiraville
8th	17*	L Griffith & A Riddell	East Asia Pacific	University No.1 Oval, Keiraville
9th		No Instance		

Leading Partnerships by Wicket – Northern Territory

10th

No Instance

1st	68	J Page & B Stray	Western Australia	University No.2 Oval, Keiraville
2nd	49	L Muller & B Stray	Queensland	University No.2 Oval, Keiraville
3rd	23	B Stray & JH Munro	Western Australia	University No.2 Oval, Keiraville
4th	30	J Page & JH Munro	South Australia	University No.1 Oval, Keiraville
5th	25	R Hartung & A Cloughessy	Queensland	University No.2 Oval, Keiraville
6th	13	Monet Hunter & J Page	New South Wales	Ziems Park, Corrimal
7th	12	C Gray & S Roberts	East Asia Pacific	University No.2 Oval, Keiraville
8th	12	M Kaukura & E Shearer	Queensland	University No.2 Oval, Keiraville
9th	8*	S Roberts & Monet Hunter	East Asia Pacific	University No.2 Oval, Keiraville
10th	18	E Shearer & Matisse Hunter	Victoria	Judy Masters Park, Balgownie

Leading Partnerships by Wicket – Queensland

1st	106	A Paton & A Weeks	New South Wales	North Dalton Park, Towradgi
2nd	49	E Flynn & S Baldwin	South Australia	University No.1 Oval, Keiraville
3rd	45*	CA Musk & M Dixon	Northern Territory	University No.2 Oval, Keiraville
4th	28	M Dixon & CA Cooper	South Australia	University No.1 Oval, Keiraville
5th	25	CA Musk & CA Cooper	South Australia	University No.1 Oval, Keiraville
6th	12	HJ Clarke & S Morgan	Northern Territory	University No.2 Oval, Keiraville
7th	14	S Baldwin & A Spina	Victoria	Judy Masters Park, Balgownie
8th	46	A Spina & CA Cooper	Victoria	Judy Masters Park, Balgownie
9th	17	M Dixon & HJ Clarke	East Asia Pacific	University No.2 Oval, Keiraville
10th	6*	HJ Clarke & L Shackleton	East Asia Pacific	University No.2 Oval, Keiraville

Leading Partnerships by Wicket - South Australia

1st	99	H Armstrong & BA Perry	Northern Territory	University No.1 Oval, Keiraville
2nd	41	C Fiebig & BA Perry	Western Australia	Ziems Park, Corrimal
3rd	60	BA Perry & J Doecke	East Asia Pacific	North Dalton Park, Towradgi
4th	16	C Fiebig & K Armstrong	Victoria	Ziems Park, Corrimal
5th	18	E Faint & H Armstrong	New South Wales	University No.1 Oval, Keiraville
6th	22	CA Galbraith & H Armstrong	New South Wales	University No.1 Oval, Keiraville
7th	15	CA Galbraith & FL Mansell	Victoria	Ziems Park, Corrimal
8th	7	S Jameson & S Tansell	Queensland	University No.1 Oval, Keiraville
9th	12	S Tansell & JL Howie	Queensland	University No.1 Oval, Keiraville
10th	0	JL Howie & R Cummings	Queensland	University No.1 Oval, Keiraville

Leading Partnerships by Wicket – Victoria

1st	28	L Croft & R O'Donnell	Queensland	Judy Masters Park, Balgownie
2nd	17	L Croft & C Moscript	New South Wales	University No.1 Oval, Keiraville
3rd	46	S Townsend & C Moscript	Northern Territory	Judy Masters Park, Balgownie
4th	61	S Townsend & T Parker	East Asia Pacific	University No.1 Oval, Keiraville
5th	81	S Townsend & T Parker	New South Wales	University No.1 Oval, Keiraville
6th	36*	T Parker & E Lynch	Northern Territory	Judy Masters Park, Balgownie
7th	19	E Lynch & C Moscript	Queensland	Judy Masters Park, Balgownie
8th	7	T Parker & E Lynch	East Asia Pacific	University No.1 Oval, Keiraville
9th	15	C Moscript & E Gallagher	Queensland	Judy Masters Park, Balgownie
10th	5	E Gallagher & C Neale	Queensland	Judy Masters Park, Balgownie

Leading Partnerships by Wicket - Western Australia

1s	t 22	MJ Saunders & CA Wain	New South Wales	Judy Masters Park, Balgownie
2n	id 25	CA Wain & S Williams	New South Wales	Judy Masters Park, Balgownie
3rd	d 22	ME Thompson & CA Wain	East Asia Pacific	University No.2 Oval, Keiraville
4th	h 25	K Van Spall & SJ Prickett	Northern Territory	University No.2 Oval, Keiraville
5th	h 32	SJ Prickett & S Williams	Northern Territory	University No.2 Oval, Keiraville
6th	h 28	SJ Prickett & S Williams	Queensland	University No.1 Oval, Keiraville
7th	h 16	MJ Saunders & S Williams	Queensland	University No.1 Oval, Keiraville
8th	h 16*	S Williams & JM Roberts	Northern Territory	University No.2 Oval, Keiraville
9th	h 15	GP Middleton & CA Wain	East Asia Pacific	University No.2 Oval, Keiraville
10	th 13*	S Williams & C Winchcombe	Queensland	University No.1 Oval, Keiraville

10th	13*	S Williams & C Winchcombe	Queensland	University No.1 Oval, Keiraville
Lea	ding	Partnerships		
1st				
106	A Pat	ton & A Weeks	Queensland v New South Wales	North Dalton Park, Towradgi
99	H Arr	nstrong & BA Perry	South Australia v Northern Territory	University No.1 Oval, Keiraville
72	H Arr	nstrong & BA Perry	South Australia v New South Wales	University No.1 Oval, Keiraville
69	BA P	erry & H Armstrong	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
68		ge & B Stray	Northern Territory v Western Australia	University No.2 Oval, Keiraville
53	T Rui	ma & V Frank	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
51	A We	eks & CA Musk	Queensland v Western Australia	University No.1 Oval, Keiraville
47		gg & R Cady	New South Wales v Western Australia	Judy Masters Park, Balgownie
37		gar & R Cady	New South Wales v Northern Territory	Ziems Park, Corrimal
37		ay & J Page	Northern Territory v New South Wales	Ziems Park, Corrimal
35		ay & J Page	Northern Territory v South Australia	University No.1 Oval, Keiraville
34		eks & A Paton	Queensland v Northern Territory	University No.2 Oval, Keiraville
32		dy & A Edgar	New South Wales v Queensland	North Dalton Park, Towradgi
32		nstrong & BA Perry	South Australia v Western Australia	Ziems Park, Corrimal
31	K Arr	nstrong & H Armstrong	South Australia v New South Wales	University No.1 Oval, Keiraville
2nd		0.7.0		
55		nmy & P Siaka	East Asia Pacific v Western Australia	University No.2 Oval, Keiraville
54		dy & GA McDonald	New South Wales v Northern Territory	Ziems Park, Corrimal
49		ller & B Stray	Northern Territory v Queensland	University No.2 Oval, Keiraville
49	•	nn & S Baldwin	Queensland v South Australia	University No.1 Oval, Keiraville
42		1cDonald & R Cady	New South Wales v Western Australia	Judy Masters Park, Balgownie
41		big & BA Perry	South Australia v Western Australia	Ziems Park, Corrimal
41		cooper & CA Musk	Queensland v Northern Territory	University No.2 Oval, Keiraville
37		big & BA Perry	South Australia v East Asia Pacific	North Dalton Park, Towradgi
35		Idell & R Cady	New South Wales v South Australia	University No.1 Oval, Keiraville
33 27*		ge & L Muller	Northern Territory v Queensland	University No.2 Oval, Keiraville
26		eks & CA Musk ecke & BA Perry	Queensland v New South Wales South Australia v New South Wales	North Dalton Park, Towradgi
25 25		/ain & S Williams	Western Australia v New South Wales	University No.1 Oval, Keiraville Judy Masters Park, Balgownie
3rd	CA V	Valli & S Williams	Western Australia V New South Wales	Judy Masters Fark, Daigowille
98*	D Sia	ka & N Ovasuru	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
71		dy & L Griffith	New South Wales v Victoria	North Dalton Park, Towradgi
60		erry & J Doecke	South Australia v East Asia Pacific	North Dalton Park, Towradgi
52*		asuru & P Siaka	East Asia Pacific v Queensland	University No.2 Oval, Keiraville
48*	-	erry & J Doecke	South Australia v Western Australia	Ziems Park, Corrimal
46		wnsend & C Moscript	Victoria v Northern Territory	Judy Masters Park, Balgownie
45*		lusk & M Dixon	Queensland v Northern Territory	University No.2 Oval, Keiraville
44		gar & L Griffith	New South Wales v Queensland	North Dalton Park, Towradgi
43*		ıka & H Buruka	East Asia Pacific v Northern Territory	University No.2 Oval, Keiraville
34*		erry & C Fiebig	South Australia v New South Wales	University No.1 Oval, Keiraville
34		gar & L Griffith	New South Wales v South Australia	University No.1 Oval, Keiraville
4th	,	-		,
61	S To	wnsend & T Parker	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
		0.1.0.1001	Name Open the Walance Winterda	

Victoria v East Asia Pacific New South Wales v Victoria Victoria v New South Wales Northern Territory v South Australia New South Wales v South Australia New South Wales v Queensland Queensland v South Australia

Western Australia v Northern Territory

University No.1 Oval, Keiraville

University No.1 Oval, Keiraville

University No.1 Oval, Keiraville

University No.1 Oval, Keiraville

University No.2 Oval, Keiraville

North Dalton Park, Towradgi

North Dalton Park, Towradgi

M Lugg & L Griffith

P Jenkins & T Parker

J Page & JH Munro

M Lugg & L Griffith

MS Norup & L Griffith

M Dixon & CA Cooper

K Van Spall & SJ Prickett

53

37

30

29

28

28

25

5th			
81	S Townsend & T Parker	Victoria v New South Wales	University No.1 Oval, Keiraville
62	K Oala & N Ovasuru	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
57	K Oala & N Ovasuru	East Asia Pacific v South Australia	North Dalton Park, Towradgi
37	E Donald & E Lynch	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
36	K Oala & N Ovasuru	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
35	E Lynch & S Townsend	Victoria v South Australia	Ziems Park, Corrimal
32	SJ Prickett & S Williams	Western Australia v Northern Territory	University No.2 Oval, Keiraville
25	CA Musk & CA Cooper	Queensland v South Australia	University No.1 Oval, Keiraville
25	R Hartung & A Cloughessy	Northern Territory v Queensland	University No.2 Oval, Keiraville
6th			
42	L Griffith & A Riddell	New South Wales v Victoria	University No.1 Oval, Keiraville
36*	T Parker & E Lynch	Victoria v Northern Territory	Judy Masters Park, Balgownie
28	SJ Prickett & S Williams	Western Australia v Queensland	University No.1 Oval, Keiraville
22	CA Galbraith & H Armstrong	South Australia v New South Wales	University No.1 Oval, Keiraville
20	T Parker & L Croft	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
17	E Faint & CA Galbraith	South Australia v Victoria	Ziems Park, Corrimal
16	K Jackson & L Griffith	New South Wales v Queensland	North Dalton Park, Towradgi
16	E Donald & L Croft	Victoria v New South Wales	North Dalton Park, Towradgi
15	S Townsend & E Lynch	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
7th			
35	V Frank & S Solman	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
21	M Lugg & GA McDonald	New South Wales v South Australia	University No.1 Oval, Keiraville
19	E Lynch & C Moscript	Victoria v Queensland	Judy Masters Park, Balgownie
16	MJ Saunders & S Williams	Western Australia v Queensland	University No.1 Oval, Keiraville
15	CA Galbraith & FL Mansell	South Australia v Victoria	Ziems Park, Corrimal
8th			
46	A Spina & CA Cooper	Queensland v Victoria	Judy Masters Park, Balgownie
17*	L Griffith & A Riddell	New South Wales v East Asia Pacific	University No.1 Oval, Keiraville
16*	S Williams & JM Roberts	Western Australia v Northern Territory	University No.2 Oval, Keiraville
12	M Kaukura & E Shearer	Northern Territory v Queensland	University No.2 Oval, Keiraville
12	GP Middleton & ME Thompson	Western Australia v South Australia	Ziems Park, Corrimal
9th			
17	M Dixon & HJ Clarke	Queensland v East Asia Pacific	University No.2 Oval, Keiraville
15	C Moscript & E Gallagher	Victoria v Queensland	Judy Masters Park, Balgownie
15	GP Middleton & CA Wain	Western Australia v East Asia Pacific	University No.2 Oval, Keiraville
10th			
18	E Shearer & Matisse Hunter	Northern Territory v Victoria	Judy Masters Park, Balgownie
14	S Jimmy & R Oa	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
40+	O M/10 O O M/1 b b -	Martana Assatas Passa Ossa analana d	The Second Street A. Order L. Markey 2015

Western Australia v Queensland

University No.1 Oval, Keiraville

13*

S Williams & C Winchcombe

Highest Team Innings

Total	Team/Opponent	Ground
2-139	South Australia v Northern Territory	University No.1 Oval, Keiraville
5-135	Victoria v New South Wales	University No.1 Oval, Keiraville
6-134	New South Wales v Queensland	North Dalton Park, Towradgi
7-134	New South Wales v Victoria	University No.1 Oval, Keiraville
1-133	Queensland v New South Wales	North Dalton Park, Towradgi
5-133	New South Wales v Northern Territory	Ziems Park, Corrimal
2-132	South Australia v New South Wales	University No.1 Oval, Keiraville
7-128	Queensland v South Australia	University No.1 Oval, Keiraville
5-126	Victoria v Northern Territory	Judy Masters Park, Balgownie
7-122	New South Wales v South Australia	University No.1 Oval, Keiraville
2-121	South Australia v Western Australia	Ziems Park, Corrimal
5-118	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
5-118	New South Wales v South Australia	University No.1 Oval, Keiraville
6-117	South Australia v East Asia Pacific	University No.1 Oval, Keiraville
8-114	Queensland v Northern Territory	University No.2 Oval, Keiraville
6-114	South Australia v New South Wales	University No.1 Oval, Keiraville
6-113	Northern Territory v Western Australia	University No.2 Oval, Keiraville
112	Victoria v Queensland	Judy Masters Park, Balgownie
7-112	Western Australia v Northern Territory	University No.2 Oval, Keiraville
5-112	East Asia Pacific v South Australia	North Dalton Park, Towradgi
4-111	South Australia v East Asia Pacific	North Dalton Park, Towradgi
2-110	Queensland v Northern Territory	University No.2 Oval, Keiraville

Lowest Completed Innings Totals

Total	Team/Opponent	Ground
50	Western Australia v South Australia	Ziems Park, Corrimal
50	Northern Territory v Victoria	Judy Masters Park, Balgownie
66	South Australia v Queensland	University No.1 Oval, Keiraville
68	Western Australia v East Asia Pacific	University No.2 Oval, Keiraville
82	Northern Territory v Queensland	University No.2 Oval, Keiraville
95	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
107	Northern Territory v South Australia	University No.1 Oval, Keiraville
112	Victoria v Queensland	Judy Masters Park, Balgownie

Leading Wicket Takers

	Team	М	Overs	Mdn	Runs	Wkts	Avge	Best	4wl	5wl	RpO
C Moscript	Victoria	8	30	1	109	15	7.27	5-18	-	1	3.63
C Fiebig	South Australia	8	25.2	-	133	14	9.50	4-3	1	-	5.25
E Gallagher	Victoria	8	27	3	114	13	8.77	3-7	-	-	4.22
E Flynn	Queensland	7	18.3	2	114	12	9.50	6-4	1	1	6.16
R Oa	East Asia Pacific	8	31	1	120	12	10.00	3-16	-	-	3.87
P Siaka	East Asia Pacific	8	21	1	91	11	8.27	3-13	-	-	4.33
L Shackleton	Queensland	7	21.1	1	92	9	10.22	3-15	-	-	4.35
M Dixon	Queensland	7	27	1	124	9	13.78	2-12	-	-	4.59
S Jameson	South Australia	8	28.2	-	124	9	13.78	2-3	-	-	4.38
HJ Clarke	Queensland	7	27	1	133	9	14.78	2-19	-	-	4.93
MS Norup	New South Wales	8	27	1	153	9	17.00	4-27	1	-	5.67
CA Galbraith	South Australia	7	23	-	124	8	15.50	5-13	-	1	5.39
N Ovasuru	East Asia Pacific	8	29	1	134	8	16.75	3-14	-	-	4.62
L Croft	Victoria	8	32	1	118	7	16.86	2-13	-	-	3.69
S Jimmy	East Asia Pacific	8	16	1	61	6	10.17	3-10	-	-	3.81
L Muller	Northern Territory	7	26	1	100	6	16.67	2-19	-	-	3.85
K Armstrong	South Australia	8	24	1	136	6	22.67	2-28	-	-	5.67
A Cloughessy	Northern Territory	5	11	-	54	4	13.50	2-20	-	-	4.91
B Stray	Northern Territory	7	9.4	-	62	4	15.50	2-17	-	-	6.41
V Frank	East Asia Pacific	8	13	-	72	4	18.00	2-12	-	-	5.54
S Tansell	South Australia	8	18	1	86	4	21.50	2-14	-	-	4.78
K Beaumont	New South Wales	7	15	-	87	4	21.75	1-9	-	-	5.80
S Townsend	Victoria	8	18	1	88	4	22.00	2-23	-	-	4.89
K Oala	East Asia Pacific	8	27.5	2	128	4	32.00	1-6	-	-	4.60
R Hartung	Northern Territory	7	20	-	132	4	33.00	2-20	-	-	6.60
L Griffith	New South Wales	8	28	-	160	4	40.00	2-15	-	-	5.71

Leading Averages (minimum 5 wickets)

	Team	М	Overs	Mdn	Runs	Wkts	Avge	Best	4wl	5wl	RpO
C Moscript	Victoria	8	30	1	109	15	7.27	5-18	-	1	3.63
P Siaka [']	East Asia Pacific	8	21	1	91	11	8.27	3-13	-	-	4.33
E Gallagher	Victoria	8	27	3	114	13	8.77	3-7	-	-	4.22
C Fiebig	South Australia	8	25.2	-	133	14	9.50	4-3	1	-	5.25
E Flynn	Queensland	7	18.3	2	114	12	9.50	6-4	1	1	6.16
R Oa	East Asia Pacific	8	31	1	120	12	10.00	3-16	-	-	3.87
S Jimmy	East Asia Pacific	8	16	1	61	6	10.17	3-10	-	-	3.81
L Shackleton	Queensland	7	21.1	1	92	9	10.22	3-15	-	-	4.35
M Dixon	Queensland	7	27	1	124	9	13.78	2-12	-	-	4.59
S Jameson	South Australia	8	28.2	-	124	9	13.78	2-3	-	-	4.38
HJ Clarke	Queensland	7	27	1	133	9	14.78	2-19	-	-	4.93
CA Galbraith	South Australia	7	23	-	124	8	15.50	5-13	-	1	5.39
L Muller	Northern Territory	7	26	1	100	6	16.67	2-19	-	-	3.85
N Ovasuru	East Asia Pacific	8	29	1	134	8	16.75	3-14	-	-	4.62
L Croft	Victoria	8	32	1	118	7	16.86	2-13	-	-	3.69
MS Norup	New South Wales	8	27	1	153	9	17.00	4-27	1	-	5.67
K Armstrong	South Australia	8	24	1	136	6	22.67	2-28	-	-	5.67

Leading Economy Rates (minimum 12 overs)

	Team	М	Overs	Mdn	Runs	Wkts	Avge	Best	4wl	5wl	RpO
C Moscript	Victoria	8	30	1	109	15	7.27	5-18	-	1	3.63
L Croft	Victoria	8	32	1	118	7	16.86	2-13	-	-	3.69
S Jimmy	East Asia Pacific	8	16	1	61	6	10.17	3-10	-	-	3.81
L Muller	Northern Territory	7	26	1	100	6	16.67	2-19	-	-	3.85
R Oa	East Asia Pacific	8	31	1	120	12	10.00	3-16	-	-	3.87
J Carroll	Queensland	7	13	-	52	3	17.33	2-13	-	-	4.00
E Gallagher	Victoria	8	27	3	114	13	8.77	3-7	-	-	4.22
P Siaka	East Asia Pacific	8	21	1	91	11	8.27	3-13	-	-	4.33
L Shackleton	Queensland	7	21.1	1	92	9	10.22	3-15	-	-	4.35
JM Roberts	Western Australia	6	15.5	1	69	2	34.50	1-8	-	-	4.36
S Jameson	South Australia	8	28.2	-	124	9	13.78	2-3	-	-	4.38
A Riddell	New South Wales	7	18	1	79	2	39.50	1-8	-	-	4.39
A Edgar	New South Wales	7	20	-	91	1	91.00	1-14	-	-	4.55
M Dixon	Queensland	7	27	1	124	9	13.78	2-12	-	-	4.59
K Oala	East Asia Pacific	8	27.5	2	128	4	32.00	1-6	-	-	4.60
N Ovasuru	East Asia Pacific	8	29	1	134	8	16.75	3-14	-	-	4.62
S Tansell	South Australia	8	18	1	86	4	21.50	2-14	-	-	4.78
S Townsend	Victoria	8	18	1	88	4	22.00	2-23	-	-	4.89
HJ Clarke	Queensland	7	27	1	133	9	14.78	2-19	-	-	4.93
L Avard	New South Wales	6	15	-	78	3	26.00	2-2	-	-	5.20
C Fiebig	South Australia	8	25.2	-	133	14	9.50	4-3	1	-	5.25
K Pepper	Western Australia	6	14	-	74	3	24.67	2-16	-	-	5.29
CA Galbraith	South Australia	7	23	-	124	8	15.50	5-13	-	1	5.39
C Gray	Northern Territory	7	19	-	104	2	52.00	1-14	-	-	5.47
S Williams	Western Australia	5	12	-	66	1	66.00	1-18	-	-	5.50
V Frank	East Asia Pacific	8	13	-	72	4	18.00	2-12	-	-	5.54
K Jackson	New South Wales	7	13	-	73	3	24.33	2-13	-	-	5.62
MS Norup	New South Wales	8	27	1	153	9	17.00	4-27	1	-	5.67
K Armstrong	South Australia	8	24	1	136	6	22.67	2-28	-	-	5.67
L Griffith	New South Wales	8	28	-	160	4	40.00	2-15	-	-	5.71
K Beaumont	New South Wales	7	15	-	87	4	21.75	1-9	-	-	5.80

Leading Strike Rates (minimum 5 wickets)

	Team	М	Overs	Mdn	Runs	Wkts	Avge	Best	4wl	5wl	St/Rt
E Flynn	Queensland	7	18.3	2	114	12	9.50	6-4	1	1	9.25
C Fiebig	South Australia	8	25.2	-	133	14	9.50	4-3	1	-	10.86
P Siaka	East Asia Pacific	8	21	1	91	11	8.27	3-13	-	-	11.45
C Moscript	Victoria	8	30	1	109	15	7.27	5-18	-	1	12.00
E Gallagher	Victoria	8	27	3	114	13	8.77	3-7	-	-	12.46
L Shackleton	Queensland	7	21.1	1	92	9	10.22	3-15	-	-	14.11
R Oa	East Asia Pacific	8	31	1	120	12	10.00	3-16	-	-	15.50
S Jimmy	East Asia Pacific	8	16	1	61	6	10.17	3-10	-	-	16.00
CA Galbraith	South Australia	7	23	-	124	8	15.50	5-13	-	1	17.25
M Dixon	Queensland	7	27	1	124	9	13.78	2-12	-	-	18.00
HJ Clarke	Queensland	7	27	1	133	9	14.78	2-19	-	-	18.00
MS Norup	New South Wales	8	27	1	153	9	17.00	4-27	1	-	18.00
S Jameson	South Australia	8	28.2	-	124	9	13.78	2-3	-	-	18.89
N Ovasuru	East Asia Pacific	8	29	1	134	8	16.75	3-14	-	-	21.75
K Armstrong	South Australia	8	24	1	136	6	22.67	2-28	-	-	24.00
L Muller	Northern Territory	7	26	1	100	6	16.67	2-19	-	-	26.00
L Croft	Victoria	8	32	1	118	7	16.86	2-13	-	-	27.43

Best Bowling in an Innings

6-4	E Flynn	Queensland v Northern Territory	University No.2 Oval, Keiraville
5-13	CA Galbraith	South Australia v Victoria	Ziems Park, Corrimal
5-18	C Moscript	Victoria v Queensland	Judy Masters Park, Balgownie
4-3	C Fiebig	South Australia v Western Australia	Ziems Park, Corrimal
4-27	MS Norup	New South Wales v Victoria	University No.1 Oval, Keiraville
4-28	E Flynn	Queensland v Victoria	Judy Masters Park, Balgownie
3-2	C Fiebig	South Australia v Northern Territory	University No.1 Oval, Keiraville
3-2	C Neale	Victoria v Northern Territory	Judy Masters Park, Balgownie
3-4	CA Musk	Queensland v South Australia	University No.1 Oval, Keiraville
3-7	E Gallagher	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
3-10	S Jimmy	East Asia Pacific v Northern Territory	University No.2 Oval, Keiraville
3-12	JL Howie	South Australia v Northern Territory	University No.1 Oval, Keiraville
3-12	E Gallagher	Victoria v South Australia	Ziems Park, Corrimal
3-13	P Siaka	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
3-13	C Moscript	Victoria v Northern Territory	Judy Masters Park, Balgownie
3-14	N Ovasuru	East Asia Pacific v Western Australia	University No.2 Oval, Keiraville
3-15	L Shackleton	Queensland v South Australia	University No.1 Oval, Keiraville
3-16	R Oa	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
3-16	N Ovasuru	East Asia Pacific v South Australia	North Dalton Park, Towradgi
3-17	P Siaka	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
3-25	C Fiebig	South Australia v Queensland	University No.1 Oval, Keiraville
2-2	L Avard	New South Wales v Northern Territory	Ziems Park, Corrimal
2-3	S Jameson	South Australia v Western Australia	Ziems Park, Corrimal
2-7	R O'Donnell	Victoria v Northern Territory	Judy Masters Park, Balgownie
2-9	C Moscript	Victoria v Western Australia	Judy Masters Park, Balgownie
2-10	L Shackleton	Queensland v Victoria	Judy Masters Park, Balgownie
2-10	P Siaka	East Asia Pacific v Western Australia	University No.2 Oval, Keiraville
2-11	R Oa	East Asia Pacific v Northern Territory	University No.2 Oval, Keiraville
2-11	L Shackleton	Queensland v Western Australia	University No.1 Oval, Keiraville
2-11	MS Norup	New South Wales v Victoria	North Dalton Park, Towradgi
2-12	M Dixon	Queensland v Western Australia	University No.1 Oval, Keiraville
2-12	V Frank	East Asia Pacific v Queensland	University No.2 Oval, Keiraville

Most Expensive Bowling in an Innings

4-0-34-2	E Gallagher	Victoria v New South Wales	University No.1 Oval, Keiraville
4-0-33-0	L Griffith	New South Wales v Victoria	University No.1 Oval, Keiraville
4-0-30-0	R Hartung	Northern Territory v Queensland	University No.2 Oval, Keiraville
4-0-30-1	C Fiebig	South Australia v New South Wales	University No.1 Oval, Keiraville
4-0-30-1	B Stray	Northern Territory v Victoria	Judy Masters Park, Balgownie
3-0-29-0	ME Thompson	Western Australia v South Australia	Ziems Park, Corrimal
3-0-29-1	CA Cooper	Queensland v New South Wales	North Dalton Park, Towradgi
4-0-28-0	E Flynn	Queensland v Western Australia	University No.1 Oval, Keiraville
4-0-28-0	TE Kavanagh	New South Wales v Victoria	University No.1 Oval, Keiraville
3-0-28-1	M Kaukura	Northern Territory v Queensland	University No.2 Oval, Keiraville
4-0-28-1	E Donald	Victoria v New South Wales	University No.1 Oval, Keiraville
3.1-0-28-1	K Oala	East Asia Pacific v Victoria	University No.1 Oval, Keiraville
3-0-28-1	HJ Clarke	Queensland v Northern Territory	University No.2 Oval, Keiraville
3-0-28-2	K Armstrong	South Australia v Northern Territory	University No.1 Oval, Keiraville
4-0-28-4	E Flynn	Queensland v Victoria	Judy Masters Park, Balgownie
4-0-27-0	L Griffith	New South Wales v Queensland	North Dalton Park, Towradgi
4-0-27-0	R O'Donnell	Victoria v Queensland	Judy Masters Park, Balgownie
4-0-27-0	L Avard	New South Wales v South Australia	University No.1 Oval, Keiraville
3-0-27-0	MS Norup	New South Wales v South Australia	University No.1 Oval, Keiraville
4-0-27-2	MS Norup	New South Wales v Victoria	University No.1 Oval, Keiraville
4-0-26-1	N Ovasuru	East Asia Pacific v New South Wales	University No.1 Oval, Keiraville
4-0-26-2	M Dixon	Queensland v South Australia	University No.1 Oval, Keiraville
3-0-25-0	R Oa	East Asia Pacific v South Australia	University No.1 Oval, Keiraville
4-0-25-0	CA Galbraith	South Australia v New South Wales	University No.1 Oval, Keiraville
4-0-25-0	L Croft	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
4-0-25-1	S Jameson	South Australia v Queensland	University No.1 Oval, Keiraville
4-0-25-3	C Fiebig	South Australia v Queensland	University No.1 Oval, Keiraville

Hat Tricks

Team/Opponent Ground

C Fiebig South Australia v Western Australia Ziems Park, Corrimal

Leading Catches by Fieldsmen

Player	Team	M	Ct	C/M
BA Perry	South Australia	8	6	0.75
C Neale	Victoria	5	4	0.80
S Baldwin	Queensland	7	4	0.57
CA Galbraith	South Australia	7	4	0.57
L Croft	Victoria	8	4	0.50
S Townsend	Victoria	8	4	0.50
E Gallagher	Victoria	8	4	0.50
MS Norup	New South Wales	8	4	0.50
S Jameson	South Australia	8	4	0.50
A Cloughessy	Northern Territory	5	3	0.60
E Shearer	Northern Territory	6	3	0.50
CA Cooper	Queensland	7	3	0.43
M Dixon	Queensland	7	3	0.43
N Ovasuru	East Asia Pacific	8	3	0.38
E Faint	South Australia	8	3	0.38

Most Catches in an Innings by a Fielder

ı	wo
ı	Cro

Victoria v East Asia Pacific L Croft Victoria v Western Australia S Townsend HR Biddulph Western Australia v Victoria TE Kavanagh New South Wales v East Asia Pacific S Jameson South Australia v Western Australia L Shackleton Queensland v Victoria A Cloughessy Northern Territory v Western Australia **BA Perry** South Australia v Queensland S Baldwin Queensland v South Australia E Gallagher Victoria v Northern Territory C Neale Victoria v South Australia CA Galbraith South Australia v Victoria MS Norup New South Wales v Victoria N Ovasuru East Asia Pacific v Victoria

University No.1 Oval, Keiraville Judy Masters Park, Balgownie Judy Masters Park, Balgownie University No.1 Oval, Keiraville Ziems Park, Corrimal Judy Masters Park, Balgownie

University No.2 Oval, Keiraville University No.1 Oval, Keiraville University No.1 Oval, Keiraville Judy Masters Park, Balgownie

Ziems Park, Corrimal Ziems Park, Corrimal

University No.1 Oval, Keiraville University No.1 Oval, Keiraville

Leading Wicket-Keepers

Player	Team	M	Ct	St	Total	D/M
J Doecke	South Australia	8	1	7	8	1.00
E Lynch	Victoria	6	2	4	6	1.00
T Parker	Victoria	2	1	3	4	2.00
B Stray	Northern Territory	5	4	-	4	0.80
H Buruka	East Asia Pacific	8	2	1	3	0.38
M Lugg	New South Wales	4	2	-	2	0.50
CA Wain	Western Australia	6	-	2	2	0.33

Most Dismissals in an Innings

4	4st	J Doecke	South Australia v Northern Territory	University No.1 Oval, Keiraville
3	1ct 2st	E Lynch	Victoria v East Asia Pacific	University No.1 Oval, Keiraville
2	2ct	B Stray	Northern Territory v Western Australia	a University No.2 Oval, Keiraville
2	2st	T Parker	Victoria v Northern Territory	Judy Masters Park, Balgownie
2	1ct 1st	E Lynch	Victoria v New South Wales	University No.1 Oval, Keiraville
2	1ct 1st	H Buruka	East Asia Pacific v South Australia	North Dalton Park, Towradgi

Individual Statistics – East Asia-Pacific

	M	ı	NO	HS	Runs	Avg	100	50	Ct	St	Overs	Maid	RunsA	Wkt	Avg	BBowl	41	5I	Econ
H Buruka	8	4	3	14*	19	19.00	-	-	2	1									
V Frank	8	4	-	30	48	12.00	-	-	1	-	13	0	72	4	18.00	2-12	-	-	5.54
S Jimmy	8	5	-	27	33	6.60	-	-	-	-	16	1	61	6	10.17	3-10	-	-	3.81
K John	7	1	1	0*	0	-	-	-	-	-									
E Kobayashi	8	1	-	8	8	8.00	-	-	-	-									
R Oa	8	1	1	7*	7	-	-	-	-	-	31	1	120	12	10.00	3-16	-	-	3.87
K Oala	8	4	-	31	82	20.50	-	-	-	-	27.5	2	128	4	32.00	1-6	-	-	4.60
N Ovasuru	8	7	6	42*	182	182.00	-	-	3	-	29	1	134	8	16.75	3-14	-	-	4.62
T Ruma	8	7	-	17	44	6.29	-	-	2	-	1	0	4	0	-	-	-	-	4.00
P Siaka	8	8	4	41*	142	35.50	-	-	1	-	21	1	91	11	8.27	3-13	-	-	4.33
S Solman	8	4	-	23	40	10.00	-	-	2	-	5	0	29	0	-	-	-	-	5.80
M Uliao	1	-	-	-	-	-	-	-	-	-	3	0	22	1	22.00	1-22	-	-	7.33
M Yanagida	8	2	-	3	3	1.50	-	-	-	-	8	0	45	0	-	-	-	-	5.62

Individual Statistics - New South Wales

	М	1	NO	HS	Runs	Avg	100	50	Ct	St	Overs	Maid	RunsA	Wkt	Avg	BBowl	41	5I	Econ
L Avard	6	-	-	-	-	-	-	-	1	-	15	0	78	3	26.00	2-2	-	-	5.20
K Beaumont	7	1	-	1	1	1.00	-	-	-	-	15	0	87	4	21.75	1-9	-	-	5.80
R Cady	8	8	1	42	177	25.29	-	-	2	-									
A Edgar	7	7	-	33	143	20.43	-	-	1	-	20	0	91	1	91.00	1-14	-	0	4.55
L Griffith	8	7	4	55	215	71.67	-	1	2	-	28	0	160	4	40.00	2-15	-	-	5.71
K Jackson	7	4	2	11	20	10.00	-	-	1	-	13	0	73	3	24.33	2-13	-	-	5.62
TE Kavanagh	7	-	-	-	-	-	-	-	2	-	13	0	90	1	90.00	1-5	-	-	6.92
M Lugg	7	6	1	30	72	14.40	-	-	3	-									
S Manns	7	1	1	0*	0	-	-	-	1	-	11	0	61	1	61.00	1-15	-	-	5.55
GA McDonald	7	7	1	32	72	12.00	-	-	1	-									
MS Norup	8	2	1	11	17	17.00	-	-	4	-	27	1	153	9	17.00	4-27	1	-	5.67
A Riddell	7	5	2	21	58	19.33	-	-	-	-	18	1	79	2	39.50	1-8	-	-	4.39
K Rowlings	5	5	1	6*	16	4.00	-	-	-	-									
R Van-Veen	5	5	2	9*	21	7.00	-	-	-	-									

Individual Statistics – Northern Territory

	М	ı	NO	HS	Runs	Avg	100	50	Ct	St	Overs	Maid	RunsA	Wkt	Avg	BBowl	41	51	Econ
A Cloughessy	5	5	1	2*	4	1.00	-	-	3	-	11	0	54	4	13.50	2-20	-	-	4.91
C Gray	7	6	-	15	31	5.17	-	-	-	-	19	0	104	2	52.00	1-14	-	-	5.47
R Hartung	7	4	1	1*	3	1.00	-	-	1	-	20	0	132	4	33.00	2-20	-	-	6.60
Matisse Hunter	4	4	3	5*	5	5.00	-	-	-	-									
Monet Hunter	5	4	1	2	3	1.00	-	-	-	-	6	0	51	3	17.00	2-18	-	-	8.50
M Kaukura	7	6	1	16	33	6.60	-	-	-	-	18	0	124	3	41.33	1-18	-	-	6.89
L Muller	7	7	-	24	69	9.86	-	-	-	-	26	1	100	6	16.67	2-19	-	-	3.85
JH Munro	6	5	-	19	47	9.40	-	-	-	-	3	0	37	0	-	-	-	-	12.33
J Page	7	7	1	65*	181	30.17	-	1	1	-									
S Roberts	6	5	2	9*	16	5.33	-	-	2	-	1	0	11	0	-	-	-	-	11.00
E Shearer	6	4	-	9	13	3.25	-	-	3	-	7	0	52	0	-	-	-	-	7.43
B Stray	7	7	-	27	90	12.86	-	-	4	-	9.4	0	62	4	15.50	2-17	-	-	6.41
L Taylor	4	1	-	-	-	-	-	-	-	1									
R Tomlins	6	1	1	0*	-	-	-	-	-	-	6	0	50	3	16.67	1-8	-	-	8.33

Individual Statistics - Queensland

	М	1	NO	HS	Runs	Avg	100	50	Ct	St	Overs	Maid	RunsA	Wkt	Avg	BBowl	41	51	Econ
S Baldwin	7	6	-	41	85	14.17	-	-	4	-	2	0	12	0	-	-	-	_	6.00
J Carroll	7	5	3	7	12	6.00	-	-	1	-	13	0	52	3	17.33	2-13	-	-	4.00
AJ Cartwright	7	-	-	-	-	-	-	-	-	-	5	0	44	1	44.00	1-12	-	-	8.80
HJ Clarke	7	4	1	16*	34	11.33	-	-	1	-	27	1	133	9	14.78	2-19	-	-	4.93
CA Cooper	7	5	-	29	107	21.40	-	-	3	-	5	0	39	2	19.50	1-10	-	-	7.80
M Dixon	7	5	1	29*	81	20.25	-	-	3	-	27	1	124	9	13.78	2-12	-	-	4.59
E Flynn	7	4	-	16	27	6.75	-	-	-	-	18.3	2	114	12	9.50	6-4	1	1	6.16
S Morgan	5	3	1	16	24	12.00	-	-	1	-	3	0	17	1	17.00	1-15	-	-	5.67
CA Musk	6	6	3	39*	82	27.33	-	-	2	-	7.4	0	34	3	11.33	3-4	-	-	4.43
A Paton	6	5	-	49	66	13.20	-	-	1	-									
L Shackleton	7	3	3	1*	2	-	-	-	2	-	21.1	1	92	9	10.22	3-15	-	-	4.35
A Spina	5	3	1	39	44	22.00	-	-	1	-									
A Mooks	5	1	1	63*	103	3/1 33	_	1	1	_									

Individual Statistics - South Australia

	M	1	NO	HS	Runs	Avg	100	50	Ct	St	Overs	Maid	RunsA	Wkt	Avg	BBowl	41	5I	Econ
H Armstrong	8	7	1	37	139	23.17	-	-	1	-									
K Armstrong	8	5	1	12	38	9.50	-	-	-	-	24	1	136	6	22.67	2-28	-	-	5.67
R Cummings	6	2	1	0*	0	0.00	-	-	-	-	6	0	25	2	12.50	1-6	-	-	4.17
J Doecke	8	8	1	27	99	14.14	-	-	1	7									
E Faint	8	6	2	12	31	7.75	-	-	3	-	15	1	95	2	47.50	1-17	-	-	6.33
C Fiebig	8	7	2	24*	113	22.60	-	-	1	-	25.2	0	133	14	9.50	4-3	1	-	5.25
CA Galbraith	7	4	-	19	31	7.75	-	-	4	-	23	0	124	8	15.50	5-13	-	1	5.39
JL Howie	7	1	1	2*	2	-	-	-	1	-	3	0	34	3	11.33	3-12	-	-	11.33
S Jameson	8	2	1	1	1	1.00	-	-	4	-	28.2	0	124	9	13.78	2-3	-	-	4.38
FL Mansell	8	3	1	4	7	3.50	-	-	2	-	7	0	49	0	-	-	-	-	7.00
BA Perry	8	8	3	62*	290	58.00	-	2	6	-									
S Tansell	8	2	1	7	9	9.00	-	-	-	-	18	1	86	4	21.50	2-14	-	-	4.78
BL Tonkin	4	-	-	-	-	-	-	-	-	-	2	0	9	0	-	-	-	-	4.50

Individual Statistics – Victoria

	M	1	NO	HS	Runs	Avg	100	50	Ct	St	Overs	Maid	RunsA	Wkt	Avg	BBowl	41	51	Econ
B Chesterfield	8	3	1	3*	5	2.50	-	-	1	-									
L Croft	8	7	1	15*	72	12.00	-	-	4	-	32	1	118	7	16.86	2-13	-	-	3.69
E Donald	8	5	1	11	27	6.75	-	-	-	-	15.4	0	102	3	34.00	1-11	-	-	6.51
E Gallagher	8	5	3	8	12	6.00	-	-	4	-	27	3	114	13	8.77	3-7	-	-	4.22
JK G-Chandler	4	-	-	-	-	-	-	-	1	-	8	0	39	2	19.50	2-16	-	-	4.88
H Irvine	8	1	1	0*	0	-	-	-	-	-	2	0	15	0	-	-	-	-	7.50
P Jenkins	8	5	1	19	35	8.75	-	-	1	-									
E Lynch	8	8	3	23*	84	16.80	-	-	2	4									
C Moscript	8	8	-	45	90	11.25	-	-	2	-	30	1	109	15	7.27	5-18	-	1	3.63
C Neale	5	2	2	0*	0	-	-	-	4	-	8	2	43	3	14.33	3-2	-	-	5.38
R O'Donnell	8	8	-	35	73	9.12	-	-	2	-	16	0	105	2	52.50	2-7	-	-	6.56
T Parker	8	7	2	21*	86	17.20	-	-	2	3									
S Townsend	8	8	1	62	234	33.43	-	1	4	-	18	1	88	4	22.00	2-23	-	-	4.89

Individual Statistics - Western Australia

	M	1	NO	HS	Runs	Avg	100	50	Ct	St	Overs	Maid	RunsA	Wkt	Avg	BBowl	41	5I	Econ
HR Biddulph	6	6	-	11	29	4.83	-	-	2	-	8	1	66	0	-	-	-	-	8.25
BL Crook	2	2	-	5	5	2.50	-	-	-	-									
M Knox	1	-	-	-	-	-	-	-	-	-									
L Mainwaring	5	1	-	12	12	12.00	-	-	-	-	2	0	19	1	19.00	1-19	-	-	9.50
GP Middleton	6	4	-	8	10	2.50	-	-	1	-	10.2	0	87	1	87.00	1-23	-	-	8.42
K Pepper	6	5	-	10	17	3.40	-	-	-	-	14	0	74	3	24.67	2-16	-	-	5.29
SJ Prickett	5	4	-	22	43	10.75	-	-	-	-									
JM Roberts	6	5	2	5*	8	2.67	-	-	-	-	15.5	1	69	2	34.50	1-8	-	-	4.36
MJ Saunders	6	5	-	12	39	7.80	-	-	1	-	15	0	94	2	47.00	1-19	-	-	6.27
ME Thompson	6	5	-	9	17	3.40	-	-	-	-	7	0	49	1	49.00	1-11	-	-	7.00
K Van Spall	6	6	1	14	37	7.40	-	-	-	-	10.2	1	52	2	26.00	1-13	-	-	5.03
CA Wain	6	6	1	39*	99	19.80	-	-	-	2									
S Williams	5	5	3	47*	102	51.00	-	-	-	-	12	0	66	1	66.00	1-18	-	-	5.50
C Winchcombe	6	5	3	7*	17	8.50	-	-	-	-									